
 

 

Science 2022 
 

1. Consider the following: 

1. Aarogya Setu 

2. COWIN 

3. DigiLocker 

4. DIKSHA 

Which of the above are built on top of open-source digital platforms? 

(a) 1 and 2 only 

(b) 2, 3 and 4 only 

(c) 1, 3 and 4 only 

(d) 1, 2, 3 and 4 

 

2. With reference to Web 3.0, consider the following statements: 

1. Web 3.0 technology enables people to control their own data. 

2. In Web 3.0 world, there can be blockchain based social networks. 

3. Web 3.0 is operated by users collectively rather than a corporation 

Which of the following given above are correct? 

(a) 1 and 2 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

 

3. With reference to “Software as a Service (SaaS)”, consider the following 

statements: 

1. SaaS buyers can customise the user interface and can change data fields. 

2. SaaS users can access their data through their mobile devices. 

3. Outlook, Hotmail and Yahoo! Mail are forms of SaaS. 

Which of the statements given above are correct? 

(a) 1 and 2 only 

(b) 2 and 3 only 

(c) 1 and 3 only 



 

 

(d) 1, 2 and 3 

 

4. Which one of the following statements best reflects the idea behind the 

“Fractional Orbital Bombardment System” often talked about in media? 

a. A hypersonic missile is launched into space to counter the asteroid approaching the 

Earth and explode it in space. 

b. A spacecraft lands on another planet after making several orbital motions. 

c. A missile is put into a stable orbit around the Earth and deorbits over a target on the 

Earth. 

d. A spacecraft moves along a comet with the same surface. speed and places a probe on 

its 

 

5. Which one of the following is the context in which the term “qubit” is 

mentioned? 

(a) Cloud Services 

(b) Quantum Computing 

(c) Visible Light Communication Technologies 

(d) Wireless Communication Technologies 

 

6. Consider the following communication technologies: 

1. Closed-circuit Television 

2. Radio Frequency Identification 

3. Wireless Local Area Network 

Which of the above are considered of the Short-Range devices/technologies? 

(a) 1 and 2 only. 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

 

7. Consider the following statements: 

1. Biofilms can form on medical implants within human tissues. 

2. Biofilms can form on food and food processing surfaces. 

3. Biofilms can exhibit antibiotic resistance. 



 

 

Which of the statements given above are correct? 

(a) 1 and 2 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

 

8. Consider the following statements in respect of probiotics : 

1. Probiotics are made of both bacteria and yeast. 

2. The organisms in probiotics are found in foods we ingest but they do not naturally 

occur in our gut. 

3. Probiotics help in the digestion of milk sugars. 

Which of the statements given above is/are correct? 

(a) 1 only 

(b) 2 only 

(c) 1 and 3 

(d) 2 and 3 

 

9. In the context of vaccines manufactured to prevent COVID-19 pandemic, 

consider the following statements: 

1. The Serum Institute of India produced COVID-19 vaccine named Covishield using 

mRNA platform. 

2. Sputnik V vaccine is manufactured using vector based platform. 

3. COVAXIN is an inactivated pathogen based vaccine. 

Which of the statements given above are correct? 

(a) 1 and 2 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

 

10. If a major solar storm (solar flare) reaches the Earth, which of the 

following are the possible effects on the Earth? 

1. GPS and navigation systems could fail. 

2. Tsunamis could occur at equatorial regions. 



 

 

3. Power grids could be damaged. 

4. Intense auroras could occur over much of the Earth. 

5. Forest fires could take place over much of the planet. 

6. Orbits of the satellites could be disturbed. 

7. Shortwave radio communication of the aircraft flying over polar regions could be 

interrupted. 

Select the correct answer using the code given below: 

(a) 1, 2, 4 and 5 only 

(b) 2, 3, 5, 6 and 7 only 

(c) 1, 3, 4, 6 and 7 only 

(d) 1, 2, 3, 4, 5, 6 and 7 

 

11. Which one of the following statements best describes the role of B cells 

and T cells in the human body? 

(a) They protect the environmental allergens. body 

(b) They alleviate the body’s pain and inflammation. 

(c) They act as immunosuppressants in the body. 

(d) They protect the body from the diseases caused by pathogens. 

 

12. Consider the following statements: 

1. Other than those made by humans, nanoparticles do not exist in nature. 

2. Nanoparticles of some metallic oxides are used in the manufacture of some cosmetics. 

3. Nanoparticles of some commercial products which enter the environment are unsafe 

for humans. 

Which of the statements given above is/are correct? 

(a) 1 only 

(b) 3 only 

(c) 1 and 2 

(d) 2 and 3 

 

13. Consider the following statements: DNA Barcoding can be a tool to: 

1. assess the age of a plant or animal. 

2. distinguish among species that look alike. 



 

 

3. identify undesirable animal or plant materials in processed foods. 

Which of the statements given above is/are correct? 

(a) 1 only 

(b) 3 only 

(c) 1 and 2 

(d) 2 and 3 

 

Answer Key: 

1. (d) 2. (d) 3. (d) 4. (c) 5. (b) 6. (d) 7. (d) 8. (c) 9. (b) 10. (c) 

11. (d) 12. (d) 13. (d)        

 

 

 

 

 

 

 

 

 

 

 

 

Science 2021 
 

1. Water can dissolve more substances than any other liquid because. 

(a) It is dipolar in nature. 

(b) It is a good conductor of heat 

(c) It has high value of specific heat 

(d) It is an oxide of hydrogen 

 

 



 

 

2. With reference to street lighting, how do sodium lamps differ from LED 

lamps? 

1. Sodium lamps produce light at 360 degrees but it is not so in the case of LED lamps. 

2. As street lights, sodium lamps have a longer life span than LED lamps. 

3. The spectrum of visible light from sodium lamps is almost monochromatic while LED 

lamps offer significant colour advantages in street lighting. 

Select the correct answer using the code given below. 

(a) 3 only 

(b) 2 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

 

 

3. The term “ACE2” is talked about in the context of 

(a) genes introduced in the genetically modified plants 

(b) development of India’s own satellite navigation system 

(c) radio collars for wildlife tracking 

(d) spread of viral diseases 

 

 

4. Bisphenol A (BPA), a cause of concern, is a structural/key component in 

the manufacture of which of the following kinds of plastics? 

(a) Low-density polyethylene 

(b) Polycarbonate 

(c) Polyethylene terephthalate 

(d) Polyvinyl Chloride 

 

 

5. “Triclosan” considered harmful when exposed to high levels for a long 

time, is most likely present in which of the following? 

(a) Food preservatives 

(b) Fruit ripening substances 

(c) reused plastic containers 



 

 

(d) Toiletries 

 

 

6. Which one of the following is a reason why astronomical distances are 

measured in light-years? 

(a) Distance among stellar bodies do not change 

(b) Gravity of stellar bodies does not change 

(c) Light always travels in straight line 

(d) Speed of light is always same 

 

 

7. With reference to recent developments regarding ‘Recombinant vector 

Vaccines’, consider the following statements: 

1. Genetic engineering is applied in the development of these vaccines. 

2. Bacteria and viruses are used as vectors. 

Which of the statements given above is/are correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

 

 

8. In the context of hereditary diseases, consider the following statements: 

1. Passing on mitochondrial diseases from parent to child can be prevented by 

mitochondrial replacement therapy either before or after in vitro fertilization of the 

egg. 

2. A child inherits mitochondrial diseases entirely from the mother and not from the 

father. 

Which of the statements given above is’/are correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 



 

 

 

 

9. Bollgard I and Bollgard II technologies are mentioned in the context of 

(a) Clonal propagation of crop plants 

(b) Developing genetically modified crop plants 

(c) Production of plant growth substances 

(d) Production of biofertilizers 

 

 

10. In a pressure cooker, the temperature at which the food is cooked depends 

mainly upon which of the following? 

1. Area of the hole in the lid 

2. Temperature of the flame 

3. Weight of the lid 

Select the correct answer using the code given below. 

(a) 1 and 2 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1,2 and 3 

 

 

11. Consider the following: 

1. Bacteria 

2. Fungi 

3. Virus 

Which of the above can be cultured in an artificial/ synthetic medium? 

(a) 1 and 2 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1,2 and 3 

 

 

12. Consider the following statements: 



 

 

1. Adenoviruses have single-stranded DNA genomes whereas retroviruses have double-

stranded DNA genomes. 

2. Common cold is sometimes caused by an adenovirus whereas AIDS is caused by a 

retrovirus. 

Which of the statements given above is/are correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

 

 

13. Which one of the following is used in preparing a natural mosquito 

repellent? 

(a) Congress grass 

(b) Elephant grass 

(c) Lemon grass 

(d) Nut grass 

 

Answer Key: 

1. (a) 2. (a) 3. (d) 4. (b) 5. (d) 6. (d) 7. (c) 8. (a) 9. (b) 10. (c) 

11. (a) 12. (b) 13. (c)        

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

Science 2020 
 

 

1. Which of the following statements are correct regarding the general 

difference between plant and animal cells? 

(1) Plant cells have cellulose cell walls whilst animal cells do not. 

(2) Plant cells do not have plasma membranes unlike animal cells which do. 

(3) Mature plant cell has one large vacuole whilst an animal cell has many small vacuoles. 

Select the correct answer using the code given below : 

(a) 1 and 2 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

 

 

2. In the context of recent advances in human reproductive technology, 

‘Pronuclear Transfer” is used for 

(a) Fertilization of egg in vitro by the donor sperm 

(b) Genetic modification of sperm producing cells 

(c) Development of stem cells into functional embryos 



 

 

(d) Prevention of mitochondrial diseases in offspring 

 

 

3. What is the importance of using Pneumococcal Conjugate Vaccines in 

India? 

1. These vaccines are effective against pneumonia as well as meningitis and sepsis. 

2. Dependence on antibiotics that are not effective against drug-resistant bacteria can be 

reduced. 

3. These vaccines have no side effects and cause no allergic reactions. 

Select the correct answer using the code given below : 

(a) 1 only 

(b) 1 and 2 only 

(c) 3 only 

(d) 1, 2 and 3 

 

 

4. With reference to the carbon nanotubes, consider the following statement 

: 

(1) They can be used as the carriers of drugs and antigens in the human body. 

(2) They can be made into artificial blood capillaries for an injured part of the human 

body. 

(3) They can be used in biochemical sensors. 

(4) Carbon nanotubes are biodegradable. 

Which of the statements given above are correct ? 

(a) 1 and 2 only 

(b) 2, 3 and 4 only 

(c) 1, 3 and 4 only  

(d) 1, 2, 3 and 4 

 

 

5. Consider the following statements : 

1. Genetic changes can be introduced in the cells that produce eggs or sperms of a 

prospective parent. 



 

 

2. A person’s genome can be edited before birth at the early embryonic stage. 

3. Human induced pluripotent stem cells can be injected into the embryo of a pig. 

Which of the statements given above is/are correct ? 

(a) 1 only 

(b) 2 and 3 only 

(c) 2 only 

(d) 1, 2 and 3 

 

 

6. With the present state of development, Artificial Intelligence can 

effectively do which of the following? 

(1) Bring down electricity consumption in industrial units 

(2) Create meaningful short stories and songs 

(3) Disease diagnosis 

(4) Text-to-speech conversion 

(5) Wireless transmission of electrical energy 

Select the correct answer using the code given below: 

(a) 1, 2, 3 and 5 only 

(b) 1, 3, and 4 only 

(c) 2, 4, and 5 only 

(d) 1, 2, 3, 4 and 5 

 

 

7. With reference to visible light communication (VLC) technology, which of 

the following statements are correct? 

(1) VLC uses electromagnetic spectrum wavelengths 375 to 780nm 

(2) VLC is known as long-range optical wireless communication 

(3) VLC can transmit large amounts of data faster than Bluetooth 

(4) VLC has no electromagnetic interference 

Select the correct answer using the code given below 

(a) 1, 2 and 3 only 

(b) 1, 2 and 4 only 

(c) 1, 3 and 4 only 



 

 

(d) 2, 3 and 4 only 

 

 

8. In India, the term “Public Key Infrastructure” is used in the context of 

(a) Digital security infrastructure 

(b) Food security infrastructure 

(c) Health care and education infrastructure 

(d) Telecommunication and transportation infrastructure 

 

 

9. Consider the following activities : 

(1) Spraying pesticides on a crop field 

(2) Inspecting the craters of active volcanoes 

(3) Collecting breath samples from spouting whales for DNA analysis 

At the present level of technology, which of the above activities can be 

successfully carried out by using drones? 

(a) 1 and 2 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

 

 

10. The experiment will employ a trio of spacecraft flying in formation 

in the shape of an equilateral triangle that has sides one million kilometres 

long, with lasers shining between the craft.” The experiment in question 

refers to 

(a) Voyager-2 

(b) New Horizons 

(c) LISA Pathfinder 

(d) Evolved LISA 

 

 

11. With reference to solar water pumps, consider the following statements: 



 

 

(1) Solar power can be used for running surface pumps and not for submersible pumps, 

(2) Solar power can be used for running centrifugal pumps and not the ones with piston. 

Which of the statements given above is/are correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

 

Answer Key: 

1. (c) 2. (d) 3. (b) 4. (c) 5. (d) 6. (d) 7. (c) 8. (a) 9. (d) 10. (d) 

11. (d)          

 

 

 

Science 2019 

 

 

1. The word ‘Denisovan’ is sometimes mentioned in media in reference to 

(a) fossil of a kind of dinosaurs 

(b) an early human species 

(c) a cave system found in North-East India 

(d) a geological period in the history of Indian subcontinent 

 

 

2. With reference to the recent developments in science, which one of the 

following statements is not correct? 

a. Functional chromosomes can be created by joining segments of DNA taken from cells 

of different species. 

b. Pieces of artificial functional DNA can be created in laboratories. 

c. A piece of DNA taken out from an animal cell can be made to replicate outside a living 

cell in a laboratory. 

d. Cells taken out from plants and animals can be made to undergo cell division in 

laboratory petri dishes. 



 

 

 

 

3. ‘RNA interference (RNAi)’ technology has gained popularity in the last few 

years.why? 

(1) It is used in developing gene silencing therapies. 

(2) It can be used in developing therapies for the treatment of cancer. 

(3) It can be used to develop hormone replacement therapies. 

(4) It can be used to produce crop plants that are resistant to virtual pathogens. 

Select the correct answer using the code given below. 

(a) 1, 2 and 4 

(b) 2 and 3 

(c) 1 and 3 

(d) 1 and 4 only 

 

 

4. Which of the following are the reasons for the occurrence of multi-drug 

resistance in microbial pathogens in India? 

(1) Genetic predisposition of some people. 

(2) Taking incorrect doses of antibiotics to cure diseases. 

(3) Using antibiotics in livestock farming. 

(4) Multiple chronic diseases in some people. 

Select the correct answer using the code given below. 

(a) 1 and 2 

(b) 2 and 3 only 

(c) 1,3 and 4 

(d) 2,3 and 4 

 

 

5. What is cas9 protein that is often mentioned in the news ? 

(a) A molecular scissors used in targeted gene editing. 

(b) A biosensor used in the accurate detection of pathogens in patients. 

(c) A gene that makes plants pest-resistant 

(d) A herbicidal substance synthesized in generally modified crops 



 

 

 

 

6. Which of the following statements is not correct? 

a. Hepatitis B virus is transmitted much like HIV. 

b. Hepatitis B, unlike Hepatitis C, does not have a vaccine. 

c. Globally, the number of people infected with Hepatitis B and C viruses are several 

times more than those infected with HIV. 

d. Some of those infected with Hepatitis B and C viruses do not show the symptoms for 

many years. 

 

 

7. With reference to communication technologies, what is/are the 

difference/differences between LTE (Long-Term Evolution) and VoLTE (Voice 

over Long-Term Evolution)? 

(1) LTE is commonly marketed as 3G and VoLTE is commonly marketed as advanced 3G. 

(2) LTE is data-only technology and VoLTE is voice-only technology. 

Select the correct answer using the code given below 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

 

 

8. In The context of digital technologies for entertainment, consider the 

following statements : 

1. In Augmented Reality (AR), a simulated environment is created and the physical world 

is completely shut out. 

2. In Virtual Reality (VR), images generated from the computer are projected onto real 

life objects or surroundings. 

3. AR allows individuals to be present in the world and improves the experience using 

the camera of a smart-phone or PC. 

4. VR closes the world, and transposes an individual, providing a complete immersion 

experience. 



 

 

Which of the statements given above is/are correct? 

(a) 1 and 2 only 

(b) 3 and 4 

(c) 1, 2 and 3 

(d) 4 only 

 

 

9. Consider the following statements about a digital signature: 

1. An electronic record that identifies the certifying authority issuing it. 

2. Used to serve as a proof of identity of an individual to access information of server on 

the Internet. 

3. an electronic method of signing an electronic document and ensuring that the original 

content is unchanged. 

Which of the statements given above is/are correct? 

(a) 1 only 

(b) 2 and 3 only 

(c) 3 only  

(d) 1,2 and 3  

 

 

10. In the context of wearable technology, which of the following tasks 

is/are accomplished by wearable devices? 

(1) Location identification of a person 

(2) Sleep monitoring of a person 

(3) Assisting the hearing impaired person 

Select the correct answer using the code given below. 

(a) 1 only 

(b) 2 and 3 only 

(c) 3 only 

(d) 1, 2 and 3 

 

 



 

 

11. Recently, scientists observed the merger of giant ‘blackholes’ billions of 

light-years away from the earth. What is the significance of this observation? 

(a) ‘Higgs boson particles’ were detected. 

(b) ‘Gravitational waves’ were detected. 

(c) Possibility of intergalactic space travel through ‘wormhole’ was confirmed. 

(d) It enabled the scientists to understand ‘singularity’. 

 

Answer Key: 

1. (b) 2. (a) 3. (a) 4. (d) 5. (a) 6. (b) 7. (d) 8. (b) 9. (d) 10. (d) 

11. (b)          

 

 

 

Science 2018 

 

 

1. Consider the following phenomena 

(1) Light is affected by gravity. 

(2) The Universe is constantly expanding. 

(3) Matter warps its surrounding space-time. 

Which of the above is/are the prediction/predictions of Albert Einstein’s 

General Theory of Relativity, often discussed in media? 

(a) 1 and 2 only 

(b) 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

 

 

2. Consider the following pairs of Terms sometimes seen in news vs Context 

/Topic: 

(1) Belle II experiment: Artificial Intelligence 

(2) Blockchain technology: Digital/ Cryptocurrency 

(3) CRISPR — Cas9: Particle Physics 



 

 

Which of the pairs given above is/are correctly matched ? 

(a) 1 and 3 only 

(b) 2 only 

(c) 2 and 3 only 

(d) 1, 2 and 3 

 

 

3. Consider the following statements: 

1. The Earth’s magnetic field has reversed every few hundred thousand years. 

2. When the Earth was created more than 4000 million years ago, there was 54% oxygen 

and no carbon dioxide. 

3. When living organisms originated, they modified the early atmosphere of the Earth. 

Which of the statements given above is/are correct? 

(a) 1 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

 

 

4. Consider the following: 

(1) Birds 

(2) Dust blowing 

(3) Rain 

(4)Wind blowing.  

Which of the above spread plant diseases?  

(a) 1 and 3 only 

(b) 3 and 4 only 

(c) 1, 2 and 4 only 

(d) 1, 2, 3 and 4 

 

 

5. With reference to the Genetically Modified mustard (GM mustard) 

developed in India, consider the following statements :  



 

 

1. GM mustard has the genes of a soil bacterium that give the plant the property of pest-

resistance to a wide variety of pests. 

2. GM mustard has the genes that allow the plant cross-pollination and hybridization. 

3. GM mustard has been developed jointly by the IARI and Punjab Agricultural 

University. 

Which of the statements given above is/are correct ? 

(a) 1 and 3 only 

(b) 2 only 

(c) 2 and 3 only 

(d) 1, 2 and 3 

 

 

6. Which of the following leaf modifications occur(s) in the desert areas to 

inhibit water loss? 

(1) Hard and waxy leaves 

(2) Tiny leaves 

(3) Thorns instead of leaves 

Select the correct answer using the code given below : 

(a) 2 and 3 only 

(b) 2 only 

(c) 3 only 

(d) 1, 2 and 3 

 

 

7. When the alarm of your smartphone rings in the morning, you wake up 

and tap it to stop the alarm which causes your geyser to be switched on 

automatically. The smart min-or in your bathroom shows the day’s weather and 

also indicates the level of water in your overhead tank. After you take some 

groceries from your refrigerator for making breakfast, it recognises the 

shortage of stock in it and places an order for the supply of fresh grocery items. 

When you step out of your house and lock the door, all lights, fans, geysers and 

AC machines get switched off automatically. On your way to office, your car 



 

 

warns you about traffic congestion ahead and suggests an alternative route, and 

if you are late for a meeting, it sends a- message to your office accordingly.  

In the context of emerging communication technologies, which one of the 

following terms best applies to the above scenario?  

(a) Border Gateway Protocol 

(b) Internet of Things 

(c) Internet Protocol 

(d) Virtual Private Network 

 

 

8. In which of the following areas can GPS technology be used?  

(1) Mobile phone operations 

(2) Banking operations 

(3) Controlling the power grids 

Select the correct answer using the code given below: 

(a) 1 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

 

 

9. The terms ‘Wanna Cry, Petya and Eternal Blue’ sometimes mentioned in 

the news recently are related to  

(a) Exo-planets 

(b) Crypto-currency 

(c) Cyber attacks 

(d) Mini satellites 

 

 

 

10. “3D printing” has applications in which of the following?  

(1) Preparation of confectionery items 

(2) Manufacture of bionic ears 



 

 

(3) Automotive industry 

(4) Reconstructive surgeries 

(5) Data processing technologies 

Select the correct answer using the code given below : 

(a) 1, 3 and 4 only 

(b) 2, 3 and 5 only 

(c) 1 and 4 only 

(d) 1, 2, 3, 4 and 5 

 

 

11. The identity platform ‘Aadhaar’ provides open “Application Programming 

Interfaces (APIs)”. What does it imply? 

(1) It can be integrated into any electronic device. 

(2) Online authentication using iris is possible. 

Which of the statements given above is/are correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

 

 

12. With reference to the Indian Regional Navigation Satellite System 

(IRNSS), consider the following statements:  

1. IRNSS has three satellites in geostationary and four satellites in geosynchronous 

orbits. 

2. IRNSS covers entire India and about 5500 sq. km beyond its borders. 

3. India will have its own satellite navigation system with full global coverage by the 

middle of 2019. 

Which of the statements given above is/are correct? 

(a) 1 only 

(b) 1 and 2 only 

(c) 2 and 3 only 

(d) None 



 

 

 

 

13. With reference to India’s satellite launch vehicles, consider the following 

statements: 

1. PSLVs launch satellites useful for Earth resources monitoring whereas GSLVs are 

designed mainly to launch communication satellites. 

2. Satellites launched by PSLV appear to remain permanently fixed in the same position 

in the sky, as viewed from a particular location on Earth. 

3. GSLV Mk III is a four-staged launch vehicle with the first and third stages using solid 

rocket motors; and the second and fourth stages using liquid rocket engines. 

Which of the statements given above is/are correct.? 

(a) 1 only 

(b) 2 and 3 

(c) 1 and 2 

(d) 3 only 

 

Answer Key: 

1. (d) 2. (b) 3. (c) 4. (d) 5. (b) 6. (d) 7. (b) 8. (d) 9. (c) 10. (d) 

11. (c) 12. (d) 13. (d)        

 

Science 2017 
 

1. Consider the following pairs: 

Commonly Used / Unwanted or 

controversial chemicals 

consumed materials likely to be 

found in them 

1. Lipstick Lead  

2. Softdrinks Brominated Vegetable Oils 

3. Chinese Fast Food Monosodium Glutamate 

Which of the pairs given above is/are correctly matched? 

(a) 1 only 



 

 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

 

 

2. Organic Light Emitting Diodes (OLEDs) are used to create digital displays 

in many devices. What are the advantages of OLED displays over Liquid Crystal 

displays? 

(1) OLED displays can be fabricated on flexible plastic substrates. 

(2) Roll-up displays embedded in clothing can be made using OLEDs. 

(3) Transparent displays are possible using OLEDs. 

Select the correct answer using the code given below 

(a) 1 and 3 only 

(b) 2 only 

(c) 1, 2 and 3 

(d) None of the above statements is correct 

 

 

3. What is the application of Somatic Cell Nuclear Transfer Technology? 

(a) Production of biolarvicides 

(b) Manufacture of biodegradable plastics 

(c) Reproductive cloning of animals 

(d) Production of organisms free of diseases 

 

 

4. In India, it is legally mandatory for which of the following to report on 

cyber security incidents? 

(1) Service providers 

(2) Data centres 

(3) Body corporate 

Select the correct answer using the code given below: 

(a) 1 only 

(b) 1 and 2 only 



 

 

(c) 3 only 

(d) 1, 2 and 3 

 

 

5. What is the purpose of the ‘evolved Laser Interferometer Space Antenna 

(eLISA)’ project? 

(a) To detect neutrinos 

(b) To detect gravitational waves 

(c) To detect the effectiveness of missile defence system 

(d) To study the effect of solar flares on our communication systems 

 

 

6. The term ‘Domestic Content Requirement’ is sometimes seen in the news 

with reference to 

(a) Developing solar power production in our country 

(b) Granting licences to foreign T.V. channels in our country 

(c) Exporting our food products to other countries 

(d) Permitting foreign educational institutions to set up their campuses in our country 

 

 

7. The terms ‘Event Horizon’, ‘Singularity’, `String Theory’ and ‘Standard 

Model’ are sometimes seen in the news in the context of 

(a) Observation and understanding of the Universe 

(b) Study of the solar and the lunar eclipses 

(c) Placing satellites in the orbit of the Earth 

(d) Origin and evolution of living organisms on the Earth 

 

 

8. With reference to agriculture in India, how can the technique of `genome 

sequencing’, often seen in the news, be used in the immediate future? 

1. Genome sequencing can be used to identify genetic markers for disease resistance and 

drought tolerance in various crop plants. 



 

 

2. This technique helps in reducing the time required to develop new varieties of crop 

plants. 

3. It can be used to decipher the host-pathogen relationships in crops. 

Select the correct answer using the code given below: 

(a) 1 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

 

 

9. Which of the following statements is/are correct regarding Smart India 

Hackathon 2017? 

1. It is a centrally sponsored scheme for developing every city of our country into Smart 

Cities in a decade. 

2. It is an initiative to identify new digital technology innovations for solving the many 

problems faced by our country. 

3. It is a programme aimed at making all the financial transactions in our country 

completely digital in a decade. 

Select the correct answer using the code given below : 

(a) 1 and 3 only 

(b) 2 only 

(c) 3 only 

(d) 2 and 3 only 

 

Answer Key: 

1. (d) 2. (c) 3. (d) 4. (d) 5. (b) 6. (a) 7. (a) 8. (d) 9. (b)  

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

Science 2016 
 

 

1. Project Loon’, sometimes seen in the news, is related to 

(a) waste management technology 

(b) wireless communication technology 

(c) solar power production technology 

(d) water conservation technology 

 

 

2. With reference to ‘Li-Fi’, recently in the news, which of the following 

statements is/are correct? 

(1) It uses light as the medium for high-speed data transmission. 

(2) It is a wireless technology and is several times faster than ‘WiFi’. 

Select the correct answer using the code given below. 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 



 

 

 

 

3. With reference to `Astrosat’, the astronomical observatory launched by 

India, which of the following statements is/are correct? 

1. Other than the USA and Russia, India is the only country to have launched a similar 

observatory into space. 

2. Astrosat is a 2000 kg satellite placed in an orbit at 1650 km above the surface of the 

Earth. 

Select the correct answer using the code given below. 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

 

 

4. India is an important member of the ‘International Thermonuclear 

Experimental Reactor’. If this experiment succeeds, what is the immediate 

advantage for India? 

(a) It can use thorium in place of uranium for power generation 

(b) It can attain a global role in satellite navigation 

(c) It can drastically improve the efficiency of its fission reactors in power generation 

(d) It can build fusion reactors for power generation 

 

 

5. Consider the following statements: The Mangalyaan launched by ISRO 

1. is also called the Mars Orbiter Mission 

2. made India the second country to have a spacecraft orbit the Mars after USA 

3. made India the only country to be successful in making its spacecraft orbit the Mars in 

its very first attempt 

Which of the statements given above is/are correct? 

(a) 1 only 

(b) 2 and 3 only 

(c) 1 and 3 only 



 

 

(d) 1, 2 and 3 

 

 

6. In the context of the developments in Bioinformatics, the term 

‘transcriptome’, sometimes seen in the news, refers to 

(a) a range of enzymes used in genome editing 

(b) the full range of mRNA molecules expressed by an organism 

(c) the description of the mechanism of gene expression 

(d) a mechanism of genetic mutations taking place in cells 

 

 

7. Which of the following statements is/are correct? Viruses can infect 

(1) bacteria 

(2) fungi 

(3) plants 

Select the correct answer using the code given below. 

(a) 1 and 2 only 

(b) 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

 

Answer Key: 

1. (b) 2. (c) 3. (d) 4. (d) 5. (c) 6. (b) 7. (d) 

 

 

 

 



 

 

 

 

 

 
 

 

 

 

Science 2015 
 

 

1. The Genetic Engineering Appraisal Committee is constituted under the 

(a) Food Safety and Standards Act, 2006 

(b) Geographical Indications of Goods (Registration and Protection) Act, 1999 

(c) Environment (Protection) Act, 1986 

(d) Wildlife (Protection) Act, 1972 

 

 

2. In which of the following activities are Indian Remote Sensing (IRS) 

satellites used? 

(1) Assessment of crop productivity 

(2) Locating ground water resources 

(3) Mineral exploration 

(4) Telecommunications 

(5) Traffic studies 

Select the correct answer using the code given below 

(a) 1, 2 and 3 only 

(b) 4 and 5 only 

(c) 1 and 2 only 



 

 

(d) 1, 2, 3, 4 and 5 

 

 

3. The term ‘IndARC’ sometimes seen in the news, is the name of? 

(a) an indigenously developed radar system inducted into Indian Defence 

(b) India’s satellite to provide services to the countries of Indian Ocean Rim 

(c) a scientific establishment set up by India in Antarctic region 

(d) India’s underwater observatory to scientifically study the Arctic region 

 

 

4. H1N1 virus is sometimes mentioned in the news with reference to which 

one of the following diseases? 

(a) AIDS 

(b) Bird flu 

(c) Dengue 

(d) Swine flu 

 

 

5. With reference to ‘fuel cells’ in which hydrogen-rich fuel and oxygen are 

used to generate electricity, consider the following statements : 

1. If pure hydrogen is used as a fuel, the fuel cell emits heat and water as by-products. 

2. Fuel cells can be used for powering buildings and not for small devices like laptop 

computers. 

3. Fuel cells produce electricity in the form of Alternating Current (AC). 

Which of the statements given above is / are correct? 

(a) 1 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

 

 

6. With reference to ‘fly ash’ produced by the power plants using the coal as 

fuel, which of the following statements is/are correct? 



 

 

1. Fly ash can be used in the production of bricks for building construction 

2. Fly ash can be used as a replacement for some of the Portland cement contents of 

concrete 

3. Fly ash is made up of silicon dioxide and calcium oxide only, and does not contain any 

toxic elements. 

Select the correct answer using the code given below 

(a) 1 and 2 

(b) 2 only 

(c) 1 and 3 

(d) 3 only 

 

 

7. With reference to the use of nanotechnology in the health sector, which of 

the following statements is/are correct? 

(1) Targeted drug delivery is made possible by nanotechnology 

(2) Nanotechnology can largely contribute to gene therapy 

Select the correct answer using the code given below. 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

 

 

8. In the context of modern scientific research, consider the following 

statements about ‘IceCube’, a particle detector located at South Pole, which 

was recently in the news : 

(1) It is the world’s largest neutrino detector, encompassing a cubic kilometre of ice. 

(2) It is a powerful telescope to search for dark matter 

(3) It is buried deep in the ice. 

Which of the statements given above is/are correct? 

(a) 1 only 

(b) 2 and 3 only 

(c) 1 and 3 only 



 

 

(d) 1, 2 and 3 only 

 

 

9. With reference to ‘Near Field Communication (NFC) Technology’, which 

of the following statements is/are correct? 

1. It is a contactless communication technology that uses electromagnetic radio fields 

2. NFC is designed for use by devices which can be at a distance of even a metre from 

each other 

3. NFC can use encryption when sending sensitive information. 

Select the correct answer using the code given below. 

(a) 1 and 2 only 

(b) 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

 

 

10. Indira Gandhi Peace Prize for Peace, Disarmament and Development for 

2014 was given to which of the following? 

(a) Bhabha Atomic Research Centre 

(b) Indian Institute of Science 

(c) Indian Space Research Organization 

(d) Tata Institute of Fundamental Research 

 

Answer Key: 

1. (c) 2. (a) 3. (d) 4. (d) 5. (d) 6. (a) 7. (c) 8. (d) 9. (c) 10. (c) 

 

 

 

 

 

 



 

 

 

Science 2014 
 

 

1. Which of the following pair(s) is/are correctly matched? 

Spacecraft Purpose 

Cassini-Huygens Orbiting the Venus and transmitting data to the Earth 

Messenger Mapping and investigating the Mercury 

Voyager Exploring the outer solar system 

Select the correct answer using the code given below. 

(a) 1 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

 

 

2. Which reference to Agni-IV Missile, which of the following statements 

is/are correct?  

(1) It is a surface-to-surface missile. 

(2) It is fuelled by liquid propellant only. 

(3) It can deliver one-tonne nuclear warheads about 7500 km away. 

Select the correct answer using the code given below. 

(a) 1 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

 

 

3. In addition to fingerprint scanning, which of the following can be used in 

the biometric identification of a person?  



 

 

(1) Iris scanning 

(2) Retinal scanning 

(3) Voice recognition 

Select the correct answer using the code given below. 

(a) 1 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

 

 

4. Consider the following diseases  

(1) Diphtheria 

(2) Chickenpox 

(3) Smallpox 

Which of the above diseases has/have been eradicated in India? 

(a) 1 and 2 only 

(b) 3 only 

(c) 1, 2 and 3 

(d) None 

 

 

5. Consider the following pairs 

Vitamin Deficiency Disease 

Vitamin C Scurvy 

Vitamin D Ricket 

Vitamin E Night Blindness 

Which of the pairs given above is/are correctly matched? 

(a) 1 and 2 only 

(b) 3 only 

(c) 1, 2 and 3 

(d) None 



 

 

 

 

6. Which of the following is/are the example/examples of chemical change? 

(2014) 

(1) Crystallization of sodium chloride 

(2) Melting of ice 

(3) Souring of milk 

Select the correct answer using the code given below. 

(a) 1 and 2 only 

(b) 3 only 

(c) 1, 2 and 3 

(d) None 

 

Answer Key: 

1. (b) 2. (a) 3. (d) 4. (b) 5. (a) 6. (b) 

 

 

 

 

 

Science 2013 
 

 

1. Fruits stored in a cold chamber exhibit longer storage life because  

(a) exposure to sunlight is prevented 

(b) concentration dioxide in the is increased of carbon environment 

(c) rate of respiration is decreased 

(d) there is an increase in humidity 

 

 



 

 

2. Many transplanted seedlings do not grow because 

(a) the new soil does not contain favorable minerals 

(b) most of the root hairs grip the new soil too hard 

(c) most of the root hairs are lost during transplantation 

(d) leaves get damaged during transplantation 

 

 

3. Recombinant DNA technology (Genetic Engineering) allows genes to be 

transferred  

(1) Across different species of plants. 

(2) From animals to plants. 

(3) From microorganisms to higher organisms. 

Select the correct Solution using the codes given below. 

(a) 1 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

 

 

4. Mycorrhizal biotechnology has been used in rehabilitating degraded sites 

because mycorrhiza enables the plants to  

(1) Resist drought and increase absorptive area 

(2) Tolerate extremes of PH 

(3) Resist disease infestation 

Select the correct Solution using the codes given below: 

(a) 1 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

 

 

5. Consider the following phenomena: 

(1) Size of the sun at dusk 



 

 

(2) Colour of the sun at dawn 

(3) Moon being visible at dawn 

(4) Twinkle of stars in the sky 

(5) Polestar being visible in the sky 

Which of the above are optical illusions? 

(a) 1, 2 and 3 

(b) 3, 4 and 5 

(c) 1, 2 and 4 

(d) 2, 3 and 5 

 

 

6. Rainbow is produced when sunlight falls on drops of rain. Which of the 

following physical phenomena are responsible for this?  

(1) Dispersion 

(2) Refraction 

(3) Internal reflection 

Select the correct Solution using the codes given below. 

(a) 1 and 2 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

 

Answer Key: 

1. (c) 2. (c) 3. (a) 4. (d) 5. (c) 6. (a) 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 
 

 

Science 2012 
 

 

1. Consider the following kinds of organisms: 

1. Bat 

2. Bee 

3. Bird 

Which of the above is/are pollinating agent/agents? 

(a) 1 and 2 only 

(b) 2 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

 

 

2. Consider the following statements: 

If there were no phenomenon of capillarity 

1. It would be difficult to use a kerosene lamp 

2. One would not be able to use a straw to consume a soft drink 

3. The blotting paper would paper would fail to function 



 

 

4. The big trees that we see around would not have grown on the earth 

Which of the following statements given above are correct? 

(a) 1, 2 and 3 only 

(b) 1, 3 and 4 only 

(c) 2 and 4 only 

(d) 1, 2, 3 and 4 

 

 

3. Graphene is frequently in news recently. What is its important? 

1. It is a twodimensional material and has good electrical conductivity. 

2. It is one of the thinnest but strongest materials tested so far. 

3. It is entirely made of silicon and has high optical transparency. 

4. It can be used as ‘conducting electrodes’ requires for touch screens, LCD’s and organic 

LED’s 

Which of the statements given above are correct? 

(a) 1 and 2 only 

(b) 3 and 4 only 

(c) 1, 2 and only 

(d) 1, 2, 3 and 4 

 

 

4. Which of the following is/are cited by the scientists as evidence/evidences 

for the continued expansion of universe? 

1. Detection of microwaves in space 

2. Observation of redshirt phenomenon in space 

3. Movement of asteroids in space 

4. Occurrence of supernova explosions in space  

Code: 

(a) 1 and 2 only 

(b) 2 only 

(c) 1, 3 and 4 

(d) None of the above 



 

 

 

 

5. Electrically charged particles from space travelling at speeds of several 

hundred km/sec can severely harm living beings if they reach the surface of the 

earth. What prevents them from reaching the surface of the earth? 

a. The Earth's magnetic field diverts them toward its poles 

b. Ozone layer around the Earth reflects them back to outer space 

c. Moister in the upper layers of atmosphere prevents them from reaching the surface of 

the Earth 

d. None of the statements (a), (b) and (c) is correct. 

 

 

6. Lead, ingested or inhaled, is a health hazard. After the addition of lead to 

petrol has been banned, what still are the sources of lead poisoning? 

1. Smelting units 

2. Pens pencils 

3. Paints 

4. Hair oils and cosmetics 

Select the correct answer using the codes given below: 

(a) 1, 2 and 3 only 

(b) 1 and 3 only 

(c) 2 and 4 only 

(d) 1, 2, 3 and 4 

 

 

7. What is the role of ultraviolet (UV) radiation in the water purification 

systems? 

1. It inactivates/kills the harmful microorganisms in water. 

2. It removes all the undesirable odours from the water 

3. It quickens the sedimentation of solid particles, removes turbidity and improves the 

clarity of water. 

Which of the statements given above is/are correct? 

(a) 1 only 



 

 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

 

 

 

8. Other than resistance to pests, what are the prospects for which 

genetically engineered plants have been created? 

1. To enable them to withstand drought 

2. To increase the nutritive value of the produce 

3. To enable them to grow and do photosynthesis in spaceships and space stations 

4. To increase their shelf life 

Select the correct answer using the codes given below: 

(a) 1 and 2 only  

(b) 3 and 4 only 

(c) 1, 2 and 4 only  

(d) 1, 2, 3 and 4 

 

 

9. Which one of the following sets of elements was primarily responsible for 

the origin of life on the Earth? 

(a) Hydrogen, Oxygen, Sodium 

(b) Carbon, Hydrogen, Nitrogen 

(c) Oxygen, Calcium, Phosphorous 

(d) Carbon, Hydrogen, Potassium 

 

 

10. Consider the following kinds of organisms: 

1. Bacteria 

2. Fungi 

3. Flowering plants 

Some species of which of the above kinds of organisms are employed as bio 

pesticides? 



 

 

(a) 1 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

 

 

11. To meet its rapidly growing energy demand, some opine that India should 

pursue research and development on thorium as the future fuel of nuclear 

energy. In this context, what advantage does thorium hold over uranium? 

1. Thorium is far more abundant in nature than uranium. 

2. On the basis of unit mass of mined mineral, thorium can generate more energy 

compared to natural uranium 

3. Thorium produces less harmful waster compared to uranium. 

Which of the statement(s) given above is/are correct? 

(a) 1 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

 

 

12. Recently, there has been a concern over the short supply of a group of 

elements called ‘rare earth metals’. Why? 

1. China, which is the largest producer of these elements, has imposed some restrictions 

on their export. 

2. Other than China, Australia, Canada and Chile, these elements are not found in any 

country. 

3. Rare earth metals are essential for the manufacture of various kinds of electronic items 

and there is a growing demand for these elements. 

Which of the statement(s) given above is/are correct? 

(a) 1 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 



 

 

 

 

13. With reference to ‘stem cells’, frequently in the news, which of the 

following statement(s) is/are correct? 

1. Stem cells can be derived from mammals only. 

2. Stem cells can be used for screenings new drugs. 

3. Stem cells can be used for medical therapies. 

Select the correct answer using the codes given below. 

(a) 1 only 

(b) 2 and 3 only 

(c) 3 only 

(d) 1, 2 and 3 

 

 

14. What are the reasons for the people’s resistance to the introduction of Bt 

brinjal in India? 

1. Bt brinjal has been created by inserting a gene from a soil funguns into its genome. 

2. The seeds of Bt brinjal are terminator seeds and therefore, the farmers have to buy the 

seeds before every season from the seed companies. 

3. There is an apprehension that the consumption of Bt-brinjal may have adverse impact 

on health. 

4. There is some concern that the introduction of Bt-brinjal may have adverse effect on 

the biodiversity. 

Select the correct answer using the codes given below: 

(a) 1, 2 and 3 only 

(b) 2 and 3 only 

(c) 3 and 4 only 

(d) 1, 2, 3 and 4 

 

 

15. Biomass gasification is considered to be one of the sustainable solutions 

to the power crisis in India. In this context, which of the following statement(s) 

is/are correct? 



 

 

1. Coconut shells, groundnut shells and rice husk can be used in biomass gasification. 

2. The combustible gases generated from biomass gasification consist of hydrogen and 

carbon dioxide only. 

3. The combustible gases generated from biomass gasification can be used for direct heat 

generation, but not in internal combustion engines. 

Select the correct answer using the codes given below: 

(a) 1 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

 

Answer Key: 

1. (d) 2. (b) 3. (c) 4. (a) 5. (a) 6. (b) 7. (a) 8. (c) 9. (b) 10. (a) 

11. (d) 12. (c) 13. (b) 14. (c) 15. (c)      

 

 

 

 

 

 

 

 

 

 

 

 



 

 

Science 2011 
 

 

1. Consider the following: 

1. Photosynthesis 

2. Respiration 

3. Decay of organic matter 

4. Volcanic eruption 

Which of the above add carbon dioxide to the carbon cycle on earth? 

(a) 1 and 4 only 

(b) 2 and 3 only 

(c) 2, 3 and 4 only 

(d) 1, 2, 3 and 4 

 

 

2. The surface of a lake is frozen in severe winter, but the water at its bottom 

is still liquid. What is reason? 

(a) Ice is a bad conductor of heat. 

(b) Since the surface of the lake is at the same temperature as the air, no heat is lost. 

(c) The density of water is Maximum at 4 degree Celsius. 

(d) None of the above 

 

 

3. Regular intake of fresh fruits and vegetables is recommended in the diet 

since they are a good source of antioxidants. How do antioxidants help a person 

maintain health and promote longevity? 

a. They activate the enzymes necessary for vitamin synthesis in the body and help 

prevent vitamin deficiency. 

b. They prevent excessive oxidation of Carbohydrates, fats and proteins in the body and 

avoid unnecessary wastage of energy. 

c. They neutralize the free radicals produced in the body during metabolism. 

d. They activate certain genes in the cells of the body and help delay the ageing process. 



 

 

 

 

4. A company marketing food products advertises that its items do not 

contain trans-fats. What does this campaign signify to the customers? 

1. The food products are not made out of hydrogenated oils. 

2. The food products are not made out of animal fats. 

3. The oils used are not likely to damage the cardiovascular health of consumers. 

Which of the statements given above is/are correct? 

(a) 1 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

 

 

5. Aspartame is an artificial sweetener sold in the market. It consist of amino 

acids and provides calories like other amino acids. Yet, it is used as a lowcalorie 

sweetening agent in food items. What is the basis of this use? 

a. Aspartame is as sweet as table sugar, but unlike table sugar, it is not readily oxidized 

in human body due to lack of requisite enzymes. 

b. When aspartame is used in food processing, the sweet taste remains, but it becomes 

resistant to oxidation. 

c. Aspartame is as sweet as sugar, but after ingestion into the body, it is converted into 

metabolites that yield no calories. 

d. Aspartame is several times sweeter than table sugar, hence food items 

made with small quantities of aspartame yield fewer calories on oxidation. 

 

 

 

 

6. A married couple adopted a male child. A few years later, twin boys were 

born to them. The blood group of the couple is AB positive and O negative. The 

blood group of the three sons is A positive, B positive, and O positive. The blood 

group of the adopted son is? 



 

 

 

(a) O Positive 

(b) A Positive 

(c) B Positive 

(d) Cannot be determined on the basis of the given data 

 

 

7. What is difference between asteroids and comets? 

1. Asteroids are small rocky planetoids, while comets are formed of frozen gases held 

together by rocky and metallic material. 

2. Asteroids are found mostly between the orbits of Jupiter and Mars, while comets are 

found mostly between Venus and mercury. 

3. Comets show a perceptible glowing tail, while asteroids do not. 

 

Which of the statements given above is/are correct? 

(a) 1 and 2 only 

(b) 1 and 3 only 

(c) 3 only 

(d) 1, 2 and 3 

 

 

8. When the bark of a tree is removed in a circular fashion all around near 

its base, it gradually dries up and dies because 

(a) Water from soil cannot rise to aerial parts. 

(b) Roots are starved of energy. 

(c) Tree is infected by soil microbes. 

(d) Roots do not receive oxygen for respiration. 

 

 

9. A layer in the Earth’s atmosphere called ionosphere facilities radio 

communication. Why? 

1. The presence of ozone causes the reflection of radio waves to earth. 

2. Radio waves have a very long wavelength. 



 

 

 

Which of the statements given above is/are correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

 

 

10. What is the difference between a CFL and an LED lamp? 

1. To produce light, a CFL uses mercury vapour and phosphor while an LED lamp uses 

semi-conductor material. 

2. The average life span of a CFL is much longer than that of an LED lamp. 

3. A CFL is less energy-efficient as compared to an LED lamp. 

Which of the statement(s) given above is/are correct? 

(a) 1 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

 

 

11. What is the difference between Bluetooth and Wi-Fi devices? 

a. Bluetooth uses 2.4 GHz radio frequency band, whereas Wi-Fi can use 2.4 

GHz or 5 GHz frequency band 

b. Bluetooth is used for Wireless Local Area Networks (WLAN) only, whereas Wi-Fi is 

used for Wireless Wide Area Networks (WWAN) only 

c. When information is transmitted between two devices using Bluetooth technology, the 

devices have to be in the line of sight of each other, but when Wi-Fi technology is used the 

devices need not be in the line of sight of each other 

d. The statement (a) and (b) given above are correct in this context 

 

 

12. What is “Virtual Private Network”? 



 

 

a. It is a private computer network of an organization where the remote users can 

transmit encrypted information through the server of the organization 

b. It is a computer network across a public internet that provides users 

access to their organization’s network while maintaining the security of the 

information transmitted 

c. It is a computer network in which users can access a shared pool of computing 

resources through a service provider 

d. None of the statements (a), (b) and (c) given above is a correct description of Virtual 

Private Network 

 

 

13. A new optical disc format known as the Blue-ray Disc (BD) is becoming 

popular. In what way is it different from the traditional DVD? 

1. DVD supports Standard Definition video while BD supports High Definition video. 

2. Compare to a DVD, the BD format has several times more storage capacity. 

3. Thickness of BD is 2-4 mm while that of DVD is 1.2 mm. 

Which of the statement(s) given above is/are correct? 

(a) 1 only 

(b) 1 and 2 only 

(c) 2 and 3 only 

(d) 1, 2 and 3 

 

 

 

14. Recently, “oil zapper” was in the news. What is it? 

(a) It is an eco-friendly technology for the remediation of oily sludge and oil 

spills 

(b) It is the latest technology developed for under-sea oil exploration 

(c) It is genetically engineered high biofuel-yielding maize variety 

(d) It is the latest technology to control the accidentally caused flames from oil wells 

 

 



 

 

15. At present, scientists can determine the arrangement or relative positions 

of genes or DNA sequences on a chromosome. How does this knowledge benefit 

us? 

1. It is possible to know the pedigree of livestock 

2. It is possible to understand the causes of all human diseases. 

3. It is possible to develop disease resistant animal breeds. 

Which of the statement(s) given above is/are correct? 

(a) 1 and 2 only 

(b) 2 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

 

 

16. Microbial fuel cells are considered a source of sustainable energy. Why? 

1. They use living organisms as catalysts to generate electricity from certain substrates. 

2. They use a variety of inorganic materials as substrates. 

3. They can be installed in waste water treatment plants to cleanse water and produce 

electricity. 

Which of the statement(s) given above is/are correct? 

(a) 1 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

 

17. A genetically engineered form of brinjal, known as the Bt brinjal, has been 

developed. The objective of this is 

(a) To make it pest-resistant 

(b) To improve its taste and nutritive qualities 

(c) To make it drought-resistant 

(d) To make its shelf-life longer 

 

 

18. The function of heavy water in a nuclear reactor is to 



 

 

(a) Slow down the speed of neutrons 

(b) Increase the speed of neutrons 

(c) Cool down the reactor 

(d) Stop the nuclear reaction 

 

 

19. An artificial satellite orbiting around the Earth does not fall down. This is 

so because the attraction of Earth 

(a) does not exist at such distance 

(b) is neutralized by the attraction of the moon 

(c) provides the necessary speed for its steady motion 

(d) provides the necessary acceleration for its motion 

 

 

20. Consider the following: 

1. Carbon dioxide 

2. Oxides of Nitrogen 

3. Oxides of Sulphur 

Which of the above is/are the emission/emissions from coal combustion at 

thermal power plants? 

(a) 1 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

 

 

21. Satellites used for telecommunication relay are kept in a geostationary 

orbit. A satellite is said to be in such as orbit when: 

1. The orbit is geosynchronous. 

2. The orbit is circular. 

3. The orbit lies in the plane of the earth’s equator. 

4. The orbit is at an altitude of 22,236 km. 

Select the correct answer using the codes given below: 



 

 

(a) 1, 2 and 3 only 

(b) 1, 3 and 4 only 

(c) 2 and 4 only 

(d) 1, 2, 3 and 4 

 

Answer Key: 

1. (c) 2. (c) 3. (c) 4. (d) 5. (d) 6. (a) 7. (b) 8. (b) 9. (b) 10. (c) 

11. (a) 12. (b) 13. (b) 14. (a) 15. (d) 16. (d) 17. (a) 18. (a) 19. (d) 20. (d) 

21. (a)          

 

\ 

 

 

 

 

Science 2010 
 

 

1. Hydrogen fuel cell vehicles produce one of the following as "exhaust"  

(a) NH3  

(b) CH4  

(c) H2O  

(d) H2O2 

 

 

2. Consider the following:  

1. Oxides of Hydrogen  

2. Oxides of Nitrogen 

3. Oxides of Sulphur 

Which of the above causes/cause acid rain? 



 

 

(a) 1 and 2 only  

(b) 3 only 

(c) 2 and 3 only  

(d) 1, 2 and 3 

 

 

3. Excessive release of the pollutant carbon monoxide (CO) into the air may 

produce a condition in which oxygen supply in the human body decreases. What 

causes this condition? 

(a) When inhaled into the human body CO is converted into CO2. 

(b) The inhaled CO has much higher affinity for haemoglobin as compared to oxygen. 

(c) The inhaled CO destroys the chemical structure of haemoglobin. 

(d) The inhaled CO adversely affects the respiratory centre in the brain. 

 

 

4. Given below are the names of four energy crops. Which one of them can 

be cultivated for ethanol ?  

(a) Jatropha  

(b) Maize 

(c) Pongamia  

(d) Sunflower 

 

 

5. Some species of plants are insectivorous. Why?  

a. Their growth in shady and dark places does not allow them to undertake sufficient 

photosynthesis and thus they depend on insects for nutrition. 

b. They are adapted to grow in nitrogen deficient soils and thus depend on insects for 

sufficient nitrogenous nutrition. 

c. They cannot synthesize certain vitamins themselves and depend on the insects 

digested by them. 

d. They have remained in that particular stage of evolution as living fossils, a link between 

autotrophs and heterotrophs. 



 

 

 

 

6. Mon 863 is a variety of maize. It was in the news for the following reason.  

a. It is genetically modified dwarf variety which is resistant to drought 

b. It is a genetically modified variety which is pest resistant 

c. It is a genetically modified variety with ten times higher protein content than regular 

maize crop 

d. It is a genetically modified variety used exclusively for bio-fuel production 

 

 

 

 

7. Though coffee and tea both are cultivated on hill slopes, there is some 

difference between them regarding their cultivation. In this context, consider 

the following statements:  

1. Coffee plant requires a hot and humid climate of tropical areas whereas tea can be 

cultivated in both tropical and subtropical areas. 

2. Coffee is propagated by seeds but tea is propagated by stem cuttings only. 

Which of the statements given above is /are correct ? 

(a) 1 only  

(b) 2 only 

(c) 1 and 2  

(d) Neither 1 nor 2 

 

 

8. With reference to soil conservation, consider the following practices:  

1. Crop rotation  

2. Sand fences 

3. Terracing  

4. Wind breaks 

Which of the above are considered appropriate methods for soil conservation 

in India? 

(a) 1, 2, and 3 only  



 

 

(b) 2 and 4 only 

(c) 1, 3 and 4 only  

(d) 1, 2, 3 and 4 

 

 

 

 

 

 

9. Other than Jatropha curcas, why is Pongamia pinnata also considered a 

good option for the production of biodiesel in India? 

1. Pongamia pinnata grows naturally in most of the arid regions of India. 

2. The seeds of Pongamia pinnata are rich in lipid content of which nearly half is oleic 

acid. 

Which of the statements given above is/ are correct? 

(a) 1 only  

(b) 2 only 

(c) Both 1 and 2  

(d) Neither 1 nor 2  

 

 

10. Widespread resistance of malaria parasite to drugs like chloroquine has 

prompted attempts to develop a malaria vaccine to combat malaria. Why is it 

difficult to develop an effective malaria vaccine?  

(a) Malaria is caused by several species of Plasmodium 

(b) Man does not develop immunity to malaria during natural infection 

(c) Vaccines can be developed only against bacteria 

(d) Man is only an intermediate host and not the definitive host. 

 

 

11. Consider the following statements:  

1. Hepatitis B is several times more infectious than HIV / AIDS 

2. Hepatitis B can cause liver cancer 



 

 

Which of the statements given above is/ are correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

 

 

12. Due to their extensive rice cultivation, some regions may be contributing 

to global warming. To what possible reason/reasons is this attributable? 4/9-18 

1. The anaerobic conditions associated with rice cultivation cause the emission of 

methane. 

2. When nitrogen based fertilizers are used, nitrous oxide is emitted from the cultivated 

soil. 

Which of the statements given above is / are correct? 

(a) 1 only  

(b) 2 only 

(c) Both 1 and 2  

(d) Neither 1 nor 2 

 

 

13. Consider the following pairs: 

Protected area Well-known for 

1. Bhiterkanika, Orissa — Salt Water Crocodile 

2. Desert National Park, — Great Indian Bustard Rajasthan 

3. Eravikulam, Kerala — Hoolak Gibbon 

Which of the pairs given above is / are correctly matched ? 

(a) 1 only  

(b) 1 and 2 only 

(c) 2 only  

(d) 1, 2 and 3 

 

 

14. Consider the following statements :  



 

 

1. Biodiversity hotspots are located only in tropical regions. 

2. India has four biodiversity hotspots i.e., Eastern Himalayas, Western Himalayas, 

Western Ghats and Andaman and Nicobar Islands. 

Which of the statements given above is / are correct? 

(a) 1 only  

(b) 2 only 

(c) Both 1 and 2  

(d) Neither 1 nor 2 

 

 

15. Consider the following statements:  

1. The boundaries of a National Park are defined by legislation. 

2. A Biosphere Reserve is declared to conserve a few specific species of flora and fauna. 

3. In a Wildlife Sanctuary, limited biotic interference is permitted. 

Which of the statements given above is/correct? 

(a) 1 only  

(b) 2 and 3 only 

(c) 1 and 3 only  

(d) 1, 2 and 3 

 

 

16. A pesticide which is a chlorinated hydrocarbon is sprayed on a food crop. 

The food chain is: Food crop – Rat – Snake – Hawk. In this food chain, the 

highest concentration of the pesticide would accumulate in which one of the 

following?  

(a) Food crop  

(b) Rat 

(c) Snake  

(d) Hawk 

 

 



 

 

17. As a result of their annual survey, the National Geographic Society and an 

international polling firm Globe Scan gave India top rank in Greendex 2009 

score. What is this score? 

a. It is a measure of efforts made by different countries in adopting technologies for 

reducing carbon footprint. 

b. It is a measure of environmentally sustainable consumer behaviour in different 

countries. 

c. It is an assessment of programmes/schemes undertaken by different countries for 

improving the conservation of natural resources. 

d. It is an index showing the volume of carbon credits sold by different countries. 

 

 

18. India is a party to the Ramsar Convention and has declared many areas as 

Ramsar sites. Which of the following statements best describes as to how we 

should maintain these sites in the context of this convention?  

a. Keep all the sites completely inaccessible to man so that they will not be exploited. 

b. Conserve all the sites through ecosystem approach and permit tourism and recreation 

only. 

c. Conserve all the sites through ecosystem approach for a period without any 

exploitation, with specific criteria and specific period for each site, and then allow sustainable 

use of them by future generations. 

d. Conserve all the sites through ecosystem approach and allow their simultaneous 

sustainable use. 

 

 

19. What are the possible limitations of India in mitigating the global 

warming at present and in the immediate future? 

1. Appropriate alternate technologies are not sufficiently available. 

2. India cannot invest huge funds in research and development. 

3. Many developed countries have already set up their polluting industries in India. 

Which of the statements given above is/are correct? 

(a) 1 and 2 only  

(b) 2 only 



 

 

(c) 1 and 3 only  

(d) 1, 2 and 3 

 

 

20. Consider the following which can be found in the ambient atmosphere :  

1. Soot  

2. Sulphur hexafluoride 

3. Water vapour 

Which of the above contribute to the warming up of the atmosphere? 

(a) 1 and 2 only  

(b) 3 only 

(c) 2 and 3 only  

(d) 1, 2 and 3 

 

 

21. The United Nations Framework Convention on Climate Change (UNFCCC) 

is an international treaty drawn at  

(a) United Nations Conference on the Human Environment, Stockholm, 1972 

(b) UN ‘Conference on Environment and Development, Rio de Janeiro, 1992 

(c) World Summit on Sustainable Development, Johannesburg, 2002 

(d) UN Climate’ Change Conference, Copenhagen, 2009 

 

 

22. In the context of space technology, what is “Bhuvan”, recently in the 

news?  

(a) A mini satellite launched by ISRO for promoting the distance education in India 

(b) The name given to the next Moon Impact Probe, for Chandrayan-II 

(c) A geoportal of ISRO with 3 D imaging capabilities of India 

(d) A space telescope developed by India 

 

 

23. Consider the following statements:  

The satellite Oceansat-2 launched by India helps in 



 

 

1. estimating the water vapour content in the atmosphere. 

2. predicting the onset of monsoons. 

3. monitoring the pollution of coastal waters. 

Which of the statements given above is/are correct? 

(a) 1 and 2 only  

(b) 2 only 

(c) 1 and 3 only  

(d) 1, 2 and 3 

 

 

24. With reference to the treatment of cancerous tumours, a tool called 

cyberknife has been making the news. In this context, which one of the 

following statements is not correct ? 

(a) It is a robotic image guided system  

(b) It delivers an extremely precise dose of radiation. 

(c) It has the capability of achieving sub-millimetre accuracy. 

(d) It can map the spread of tumour in the body 

 

 

25. Genetically modified "golden rice" has been engineered to meet human 

nutritional requirements. Which one of the following statements best qualifies 

golden rice ? 

(a) The grains have been fortified with genes to provide three times higher grain yield per 

acre than other high yielding varieties 

(b) Its grains contain pro-vitamin A which upon ingestion is converted to vitamin A in the 

human body 

(c) Its modified genes cause the synthesis of all the nine essential amino acids 

(d) Its modified genes cause the fortification of its grains with vitamin D. 

 

 

26. Consider the following:  

1. Bluetooth device 

2. Cordless phone 



 

 

3. Microwave oven 

4. Wi-Fi device 

Which of the above can operate between 2.4 and 2.5 GHz range of radio 

frequency band? 

(a) 1 and 2 only 

(b) 3 and 4 only 

(c) 1, 2 and 4 only 

(d) 1, 2, 3 and 4 

 

 

27. Recently, LASIK (Laser Assisted In Situ Keratomileusis) procedure is 

being made popular for vision correction. 

Which one of the following statements in this context is-not correct?  

(a) LASIK procedure is used to correct refractive errors of the eye 

(b) It is a procedure that permanently changes the shapes of the cornea 

(c) It reduces a person’s dependence on glasses or contact lenses 

(d) It is a procedure that can be done on the person of any age 

 

 

28. Which among the following do/does not belong/belongs to the GSM family 

of wireless technologies?  

(a) EDGE  

(b) LTE 

(c) DSL  

(d) Both EDGE and LTE 

 

Answer Key: 

1. (c) 2. (c) 3. (b) 4. (b) 5. (b) 6. (b) 7. (a) 8. (d) 9. (c) 10. (b) 

11. (c) 12. (c) 13. (b) 14. (d) 15. (c) 16. (d) 17. (b) 18. (d) 19. (a) 20. (d) 

21. (b) 22. (c) 23. (d) 24. (b) 25. (b) 26. (d) 27. (d) 28. (c)   
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1. In a dry cell (battery), which of the following are used as electrolytes?  

(a) Ammonium chloride and Zinc chloride 

(b) Sodium chloride and Calcium chloride 

(c) Magnesium chloride and Zinc chloride 

(d) Ammonium chloride and Calcium chloride 

 

 

2. Which one of the following is used as an explosive?  

(a) Phosphorus trichloride  

(b) Mercuric oxide 

(c) Graphite  

(d) Nitroglycerine 

 

 

3. Consider the following statements:  

1. Sweet orange plant is propagated by grafting technique. 

2. Jasmine plant is propagated by layering technique. 

Which of the statements given above is/are correct? 

(a) 1 only  

(b) 2 only 

(c) Both 1 and 2  

(d) Neither 1 nor 2 

 

 

 

 

4. In making the saffron spice, which one of the following parts of the plant 

is used?  

(a) Leaf  

(b) Petal 



 

 

(c) Sepal  

(d) Stigma 

 

 

5. In the context of genetic disorders, consider the following:  

A woman suffers from colour blindness while her husband does not suffer 

from it. They have a son and a daughter.  

In this context, which one of the following statements is most probably 

correct?  

(a) Both children suffer from colour blindness. 

(b) Daughter suffers from colour blindness while son does not suffer from it. 

(c) Both children do not suffer from colour blindness. 

(d) Son suffers from colour blindness while daughter does not suffer from it. 

 

 

6. In the context of Indian wild life, the flying fox is a:  

(a) Bat  

(b) Kite 

(c) Stork  

(d) Vulture 

 

 

7. With reference to the evolution of living organisms, which one of the 

following sequences is correct?  

(a) Octopus-Dolphin-Shark 

(b) Pangolin-Tortoise-Hawk 

(c) Salamander-Python-Kangaroo 

(d) Frog-Crab-Prawn 

 

 

8. The Panda belongs to the same family as that of :  

(a) Bear  

(b) Cat 



 

 

(c) Dog  

(d) Rabbit 

 

 

9. The marine animal called Dugong which is vulnerable to extinction is :  

(a) Amphibian  

(b) Bony fish 

(c) Shark  

(d) Mammal 

 

 

10. The concept of carbon credit originated from which one of the following? 

(a) Earth Summit, Rio de Janeiro 

(b) Kyoto Protocol 

(c) Montreal Protocol 

(d) G-8 Summit, Heiligendamm 

 

 

11. In the context of Indian defence, consider the following statements: 

1. The Shourya missile flies with a speed of more than 8 Mach. 

2. The range of Shourya missile is more than 1600 km.  

Which of the statements given above is/are correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

 

 

12. Consider the following statements:  

1. INS Sindhughosh is an aircraft carrier. 

2. INS Viraat is a submarine. 

Which of the statements given above is/are correct? 

(a) 1 only  



 

 

(b) 2 only 

(c) Both 1 and 2  

(d) Neither 1 nor 2 

 

 

13. In the year 2008, which one of the following conducted a complex 

scientific experiment in which sub-atomic particles were accelerated to nearly 

the speed of light?  

(a) European Space Agency 

(b) European Organization for Nuclear Research 

(c) International Atomic Energy Agency 

(d) National Aeronautics and Space administration 

 

 

14. In the context of alternative sources of energy, ethanol as a viable bio-fuel 

can be obtained from  

(a) Potato  

(b) Rice 

(c) Sugarcane  

(d) Wheat 

 

 

 

 

15. In the context of CO2 emission and Global Warming, what is the name of 

a market driven device under the UNFCC that allows developing countries to get 

funds/ incentives from the developed countries to adopt better technologies that 

reduce greenhouse gas emissions?  

(a) Carbon Footprint 

(b) Carbon Credit Rating 

(c) Clean Development Mechanism 

(d) Emission Reduction Norm 



 

 

 

 

16. WiMAX is related to which one of the following  

(a) Biotechnology 

(b) Space technology 

(c) Missile technology 

(d) Communication technology 

 

Answer Key: 

1. (a) 2. (d) 3. (c) 4. (d) 5. (d) 6. (a) 7. (c) 8. (a) 9. (d) 10. (b) 

11. (d) 12. (d) 13. (b) 14. (c) 15. (c) 16. (d)     
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1. Assertion (A): Radio waves bend in a magnetic field. 

Reason (R): Radio waves are electromagnetic in nature.  

(a) Both A are R are true and R is the correct explanation of A 

(b) Both A and R are true but R is not a correct explanation of A 

(c) A is true but R is false 

(d) A is false but R is true 



 

 

 

 

2. What are Rubies and Sapphires chemically known as?  

(a) Silicon dioxide  

(b) Aluminium oxide 

(c) Lead tetroxide  

(d) Boron nitride 

 

 

3. Which one of the following is also called Stranger Gas?  

(a) Argon  

(b) Neon 

(c) Xenon  

(d) Nitrous oxide 

 

 

4. Which one of the following pairs of metals constitutes the lightest metal 

and the heaviest metal, respectively?  

(a) Lithium and mercury 

(b) Lithium and osmium 

(c) Aluminium and osmium 

(d) Aluminium and mercury 

 

 

5. What is Bisphenol A (BPA)?  

(a) A medical test for detecting cancer 

(b) A test for testing the use of drugs to improve performance by athletes 

(c) A chemical used for the development of food packaging materials 

(d) A special type of alloy steel 

 

 

6. Mixture of which one of the following pairs of gases is the cause of 

occurrence of most of the explosions in mines?  



 

 

(a) Hydrogen and Oxygen 

(b) Oxygen and acetylene 

(c) Methane and air 

(d) Carbon dioxide and methane 

 

 

7. Consider the following  

1. Rice fields 2. Coal mining 

3. Domestic animals 4. Wet lands 

Which of the above are sources of methane, a major greenhouse gas? 

(a) 1 and 4 only  

(b) 2 and 3 only 

(c) 1, 2 and 3 only  

(d) 1, 2, 3 and 4 

 

 

8. Which one of the following is an insectivorous plant?  

(a) Passion flower plant  

(b) Pitcher plant 

(c) Night queen  

(d) Flame of the forest 

 

 

9. Consider the following statements about probiotic food:  

1. Probiotic food contains live bacteria which are considered beneficial to humans. 

2. Probiotic food helps in maintaining gut flora. 

Which of the statements given above is/are correct? 

(a) 1 only  

(b) 2 only 

(c) Both 1 and 2  

(d) Neither 1 nor 2 

 

 



 

 

10. In which of the following kinds of organisms is the phenomenon found 

wherein the female kills the male after copulation?  

(a) Dragonfly  

(b) Honeybee 

(c) Spider  

(d) Pit viper 

 

 

11. For which one of the following snakes is the diet mainly composed of other 

snakes? 

(a) Krait  

(b) Russell’s viper 

(c) Rattlesnake  

(d) King cobra 

 

 

12. What is the pH level of blood of a normal person?  

(a) 4.5–4.6 

(b) 6.45–6.55 

(c) 7.35–7.45 

(d) 8.25–8.35 

 

 

13. Assertion (A): In human body, liver has important role in fat digestion.  

Reason (R): Liver produces two important fat-digesting enzymes. 

(a) Both A and R are individually true and R is the correct explanation of A 

(b) Both A and Rare individually true but R is not the correct explanation of A 

(c) A is true but R is false 

(d) Ais false but R is true 

 

 

14. Among the following, which one lays eggs and does not produce young 

ones directly?  



 

 

(a) Echidna  

(b) Kangaroo 

(c) Porcupine 

(d) Whale 

 

 

15. The release of which one of the following into ponds and wells helps in 

controlling the mosquitoes?  

(a) Crab  

(b) Dogfish 

(c) Gambusia fish  

(d) Snail 

 

 

16. Among the following, which one is not an ape?  

(a) Gibbon  

(b) Gorilla 

(c) Langur  

(d) Orangutan 

 

 

17. Consider the following statements:  

1. Clean Development Mechanism (CDM) in respect of carbon credits is one of the Kyoto 

Protocol Mechanisms. 

2. Under the CDM, the projects handled pertain only to the Annex-I countries. 

Which of the statements given above is/are correct? 

(a) 1 only  

(b) 2 only 

(c) Both 1 and 2  

(d) Neither 1 nor 2 

 

 



 

 

18. Where was the World Summit on Sustainable Development (Rio+10) 

held?  

(a) Davos  

(b) Nova Scotia 

(c) Johannesburg  

(d) Shanghai 

 

 

19. Consider the following statements:  

1. Salt-water crocodile is found in the Andaman and Nicobar Islands. 

2. Shrew and tapir are found in the Western Ghats of the Malabar region. 

Which of the statements given above is/are correct? 

(a) 1 only  

(b) 2 only 

(c) Both 1 and 2  

(d) Neither 1 nor 2 

 

 

20. Selene-1, the lunar orbiter mission belongs to which one of the 

followings?  

(a) China  

(b) European Union 

(c) Japan  

(d) USA 

 

 

21. ISRO successfully conducted a rocket test using cryogenic engines in the 

year 2007. Where is the teststand used for the purpose, located?  

(a) Balasore  

(b) Thiruvananthapuram 

(c) Mahendragiri  

(d) Karwar 



 

 

 

 

22. Which one of the following is a spacecraft?  

(a) Apophis  

(b) Cassini 

(c) Spitzer  

(d) TechSar 

 

 

23. What is the purpose of the US Space Agency’s Themis Mission, which was 

recently in the news?  

(a) To study the possibility of life on Mars 

(b) To study the satellites of Saturn 

(c) To study the colourful of display of high latitude skies 

(d) To build a space laboratory to study the stellar explosions 

 

 

24. From which one of the following did India buy the Barak anti-missile 

defence systems?  

(a) Israel  

(b) France 

(c) Russia  

(d) USA 

 

 

25. In the context of the Indian defence, what is ‘Dhruv’? 

(a) Aircraft-carrying warship  

(b) Missile-carrying submarine 

(c) Advanced light helicopter 

(d) Intercontinental ballistic missile 

 

 



 

 

26. In which one of the following locations is the International 

Thermonuclear Experimental Reactor (ITER) project to be built?  

(a) Northern Spain  

(b) Southern France 

(c) Eastern Germany 

(d) Southern Italy 

 

 

27. Which one of the following Union Ministries is implementing the 

Biodiese1 Mission (as Nodal Ministry)? [ 

(a) Ministry of Agriculture 

(b) Ministry of Science and Technology 

(c) Ministry of New and Renewable Energy 

(d) Ministry of Rural Development 

Science 2007 
 

 

1. Four wires of same material and of dimensions as under are stretched by a 

load of same magnitude separately. Which one of them will be elongated 

maximum?  

(a) Wire of 1m length and 2 mm diameter 

(b) Wire of 2 m length and 2 mm diameter 

(c) Wire of 3 m length and 1.5 mm diameter 

(d) Wire of 1 m length and 1 mm diameter 

 

 

2. Three identical vessels A, B and C are filled with water, mercury and 

kerosene respectively up to an equal height. The three vessels are provided with 

identical taps at the bottom of the vessels. If the three taps are opened 

simultaneously, then which vessel is emptied first?  

(a) Vessel B 

(b) All the vessels A, B and C will be emptied simultaneously 



 

 

(c) Vessel A 

(d) Vessel C 

 

 

3. Consider the following statements:  

1. If magenta and yellow coloured circles intersect, the intersected area will have red 

colour. 

2. If cyan and magenta coloured circles intersect, the intersected area will have blue 

colour. 

Which of the statements given above is/are correct? 

(a) 1 only  

(b) 2 only 

(c) Both 1 and 2  

(d) Neither 1 nor 2 

 

 

4. Consider the following statements:  

1. A flute of smaller length produces waves of lower frequency. 

2. Sound travels in rocks in the form of longitudinal elastic waves only. 

Which of the statements given above is/are correct? 

(a) 1 only  

(b) 2 only 

(c) Both 1 and 2  

(d) Neither 1 nor 2 

 

 

5. Assertion (A): A jet aircraft moving at Mach Number equal to 1 travels 

faster at an altitude of 15 km than while moving at Mach Number equal to 1 near 

the sea level. 

Reason (R): The velocity of sound depends on the temperature of the 

surrounding medium.  

(a) Both A are R are true and R is the correct explanation of A 

(b) Both A and R are true but R is not a correct explanation of A 



 

 

(c) A is true but R is false 

(d) A is false but R is true 

 

 

6. Which of the following types is used by computed tomography employed 

for visualisation of the internal structure of human body?  

(a) X-ray  

(b) South waves 

(c) Magnetic resonance  

(d) Radio isotopes 

 

 

7. Which one of the following types of glass can cut off ultraviolet rays?  

(a) Soda glass  

(b) Pyrex glass 

(c) Jena glass  

(d) Crookes glass 

 

 

8. Which one of the following non-metals is not a poor conductor of 

electricity? 

(a) Sulphur  

(b) Selenium 

(c) Bromine  

(d) Phosphorus 

 

 

9. Which one among the following is called philosopher’s wool?  

(a) Zinc bromide  

(b) Zinc nitrate 

(c) Zinc oxide  

(d) Zinc chloride 



 

 

 

 

10. Which one of the following does not contain silver?  

(a) Horn silver  

(b) German silver 

(c) Ruby silver  

(d) Lunar caustic 

 

 

11. Which one of the following is another name of RDX?  

(a) Cyanohydrin  

(b) Dextran  

(c) Cyclohexane  

(d) Cyclonite 

 

 

12. Which one of the following parts of the pitcher plant becomes modified 

into a pitcher? 

(a) Stem  

(b) Leaf 

(c) Stipule  

(d) Petiole 

 

 

13. Which of the following types of light are strongly absorbed by plants?  

(a) Violet and orange  

(b) Blue and red 

(c) Indigo and yellow  

(d) Yellow and violet 

 

 

14. Robert Webster is known for his work associated with which one of the 

following?  



 

 

(a) Cardiology  

(b) Influenza virus 

(c) HIV/AIDS  

(d) Alzheimer 

 

 

15. In the human body, which structure is the appendix attached to?  

(a) The large intestine  

(b) The small intestine 

(c) The gall bladder  

(d) The stomach 

 

 

16. In human body, which one of the following hormones regulates blood 

calcium and phosphate?  

(a) Glucagon  

(b) Growth hormone 

(c) Parathyroid hormone  

(d) Thyroxine 

 

 

17. How do most insects respire?  

(a) Through skin  

(b) Through gills 

(c) By lungs  

(d) By tracheal system 

 

 

18. In human beings, normally in which one of the following parts, does the 

sperm fertilize the ovum?  

(a) Cervix  

(b) Fallopian tube 

(c) Lower part of uterus  



 

 

(d) Upper part of uterus 

 

 

19. Which one of the following parts of the human brain is the regulating 

centre for swallowing and vomiting? 

(a) Cerebellum  

(b) Cerebrum 

(c) Medulla oblongata  

(d) Pons 

 

 

20. Production of which one of the following is a function of the liver?  

(a) Lipase  

(b) Urea 

(c) Mucus  

(d) Hydrochloric acid 

 

 

21. Which one of the following is not a digestive enzyme in the human system?  

(a) Trypsin  

(b) Gastrin  

(c) Ptyalin 

(d) Pepsin 

 

 

22. Which one of the following is the correct sequence in the order of 

decreasing length of the three structural parts given below of small intestine in 

the human body?  

(a) Jejunum - Duodenum - Ileum 

(b) Ileum - Duodenum - Jejunum 

(c) Jejunum - Ileum - Duodenum 

(d) Ileum - Jejunum – Duodenum 



 

 

 

 

23. NASA’s Deep Impact space mission was employed to take detailed pictures 

of which comet nucleus?  

(a) Halley’s Comet  

(b) Hale-Bopp 

(c) Hyakutake  

(d) Tempel 1 

 

 

24. Which one of the following pairs is not correctly matched? 

(a) Cosmic Background Explorer (COBE) : Satellite Programme 

(b) Falcon: Under - sea cable system 

(c) Discovery: Space shuttle 

(d) Atlantis: Space station 

 

 

25. Consider the following statements:  

1. In November, 2006, DRDO successfully conducted the interception test using Prithvi-

II missile. 

2. Prithivi-II is a surface-to-surface missile and can be deployed to guard the metros 

against air attacks. 

Which of the statements given above is/are correct? 

(a) 1 only  

(b) 2 only 

(c) Both 1 and 2  

(d) Neither 1 nor 2 

 

 

26. What is the Galileo Project which has been in news recently? 

(a) An intercountry programme of missile shield developed by the United States of 

America 

(b) A project developed by India with assistance from Canada 



 

 

(c) An environmental protection project being developed by Japan 

(d) A multi-satellite navigation project being developed by the European 

Union 

 

 

 

Science 2006 
 

 

1. What is the approximate mean velocity with which the earth moves round the 

sun in its orbit?  

(a) 20 km/s  

(b) 30 km/s 

(c) 40 km/s  

(d) 50 km/s 

 

 

2. In which one among the following is the speed of sound maximum?  

(a) Air at 0°C  

(b) Air at 100°C 

(c) Water  

(d) Wood 

 

 

3. Which one of the following is printed on a commonly used fluorescent 

tube light?  

(a) 220 K  

(b) 273 K 

(c) 6500 K  

(d) 9000 K 

 

 



 

 

4. What does the term Dolby B or Dolby C printed on taperecorders and 

other sound systems refer to:  

(a) frequency Modulated System 

(b) amplitude Modulated System 

(c) noise Reduction Circuit 

(d) both DC and AC power can be used 

 

 

5. Consider the following statements in respect of India advanced satellite 

INSAT–4A:  

1. INSAT-4A was launched in December, 2005 from New Mexico. 

2. The European Commercial Launch Service Provider Arianespace was associated with 

the launch of INSA T-4A. 

3. Tata-Sky; a digital cable service provider; is associated with DTH television 

broadcasting service from INSA T 4A. 

Which of the statements given above are correct? 

(a) 1, 2 and 3  

(b) 1 and 2 only 

(c) 2 and 3 only  

(d) 1 and 3 only 

 

 

6. Which are the materials generally employed as solder in soldering 

operations in electronics?  

(a) Iron and tin  

(b) Lead and tin 

(c) Aluminium and lead  

(d) Aluminium and iron 

 

 

7. Consider the following chemicals:  

1. Benzene  

2. Carbon tetrachloride 



 

 

3. Sodium carbonate  

4. Trichloroethylene 

Which of the above/is are used as dry cleaning chemical? 

(a) 1 only  

(b) 2 only 

(c) 1, 2 and 4 only  

(d) 1, 2, 3 and 4 

 

 

8. Which of the following substances are found in the beach sands of many 

parts of Kerala?  

1. Ilmenite  

2. Zirecon 

3. Sillimanite  

4. Tungsten 

Select the correct answer using the codes given below: 

(a) 1, 2, 3 and 4  

(b) 1, 2 and 3 only 

(c) 3 and 4 only  

(d) 1 and 2 only 

 

 

9. Assertion (A): Cellulose is used in making shatter-proof glass.  

Reason (R): Polysaccharides are not soluble in water. 

Codes: 

(a) Both ‘A’ and ‘R’ are individually true and ‘R’ is the correct explanation of’ 

A’  

(b) Both ‘A’ and ‘R’ are individually true but ‘R’ is not the correct explanation of’ A’  

(c) ‘A’ is true but ‘R’ is false. 

(d) ‘A’ is false but ‘R’ is true. 

 

 

 



 

 

 

10. Consider the following statements with reference to the human body:  

1. The common bile duct releases its contents into stomach. 

2. The pancreatic duct releases its contents into duodenum. 

Which of the statements given above is / are correct? 

(a) 1 only  

(b) 2 only 

(c) Both 1 and 2  

(d) Neither 1 nor 2 

 

 

11. Which one among the following is not a good source of nutritional 

calcium?  

(a) Rice  

(b) Ragi 

(c) Skimmed milk  

(d) Egg 

 

 

12. Consider the following statements:  

1. Caffeine, a constituent of tea and coffee is a diuretic. 

2. Citric acid is used in soft drinks. 

3. Ascorbic acid is essential for formation of bones and teeth. 

4. Citric acid is a good substitution ascorbic acid in our nutrition. 

Which of the statements given above are correct? 

(a) 1 and 2 only  

(b) 1,2 and 3 only 

(c) 3 and 4 only  

(d) I, 2, 3 and 4 

 

 

13. Consider the following statements:  

1. ELISA test is employed as the first and most basic test for an individual to detect cancer. 



 

 

2. Almost 50% of human beings have Rh+ blood while the remaining have Rh– blood. 

Which of the statement(s) given above is/are correct? 

(a) 1 only  

(b) 2 only 

(c) Both 1 and 2  

(d) Neither 1 nor 2 

 

 

14. What is the name of the vessel that delivers the nutrient/rich blood from 

the stomach and small intestine to the liver? 

(a) Left hepatic artery  

(b) Hepatic vein 

(c) Right hepatic artery  

(d) Hepatic portal vein 

 

 

15. Which one of the following pairs is not correctly matched? 

Recent Scientific Achievement       Country 

(a) Creating the world first mouse with a full human chromosome U. K 

(b) Cloning a human embryo for the first time   Germany 

(c) Guiding a spacecraft for collision with a comet    U.S.A. 

(d) Landing a spacecraft on an asteroid     Japan 

 

 

16. Consider the following statements:  

1. Meningococcal Meningitis is transmitted from person to person by mosquito bites. 

2. Vomiting and neck pain are two of the symptoms of Meningococcal Meningitis.  

Which of the statement(s) given above is/are correct? 

(a) 1 only  

(b) 2 only 

(c) Both 1 and 2  

(d) Neither 1 nor 2 



 

 

 

 

17. In which one of the following areas did the Indira Gandhi Centre for 

Atomic Research make significant progress in the year 2005’?  

a. Reprocessing the uranium-plutonium mixed carbide fuel of the Fast 

Breeder Test Reactor. 

b. New applications of radioisotopes in metallurgy. 

c. A new technology for production of heavy water. 

d. A new technology for high level nuclear waste management. 

 

 

18. Consider the following statements:  

1. ELISA test is employed as the first and most basic test for an individual to detect cancer. 

2. Almost 50 per cent of human beings have Rh+ blood while the remaining have Rh– 

blood. 

Which of the statements given above is / are correct? 

(a) 1 only  

(b) 2 only 

(c) Both 1 and 2  

(d) Neither 1 nor 2 

 

 

 

 

 

 

 

 



 

 

Science 2005 
 

 

1. Which one of the following is the correct sequence of the given substances in 

the decreasing order of their densities?  

(a) Steel > Mercury > Gold 

(b) Gold > Mercury > Steel 

(c) Steel > Gold > Mercury 

(d) Gold > Steel > Mercury 

 

 

2. What is the order of magnitude of electric resistance of the human body 

(dry)?  

(a) 102 ohm  

(b) 104 ohm 

(c) 106 ohm  

(d) 108 ohm 

 

 

3. Consider the following statements:  

1. A geo-stationary satellite is at an approximate height of 10,000 km. 

2. FM transmission of music is of very good quality because the atmospheric or man 

made noises which are generally frequency variations can do little harm. 

Which of the statements give above is/are correct? 

(a) 1 only  

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

 

 

4. Consider the following statements:  

1. Liquefied natural gas (LNG) is liquefied under extremely cold temperatures and high 

pressure to facilitate storage or transportation in specially designed vessels. 



 

 

2. First LNG terminal in India was built in Hassan. 

3. Natural gas liquids (NGL) are separated from LPG and these include ethane, propane, 

butane and natural gasoline. 

Which of the statements given above is/are correct? 

(a) 1 only  

(b) 1 and 3 

(c) 2 and 3  

(d) 1, 2, and 3 

 

 

5. Assertion (A): The main constituent of the liquefied petroleum gas is 

methane. 

Reason (R): Methane can be used directly for burning in homes and factories 

where it can be supplied through pipelines. 

(a) Both A and R are true and R is the correct explanation of A 

(b) Both A and R are true but R is not the correct explanation of A 

(c) A is true but R is false 

(d) A is false but R is true 

 

 

6. Consider the following statements:  

1. Dengue is a protozoan disease transmitted by mosquitoes. 

2. Retro-orbital pain is not a symptom of dengue. 

3. Skin rash and bleeding from nose and gums are some of the symptoms of dengue. 

Which of the statements given above is/are correct? 

(a) 1 and 2  

(b) 3 only 

(c) 2 only  

(d) 1 and 3 

 

 

7. Which of the following diseases of milching animals are infectious?  

1. Foot and mouth disease 



 

 

2. Anthrax 

3. Black Quarter 

4. Cowpox 

Select the correct answer using the codes given below: 

(a) 1, 2 and 3  

(b) 2, 3 and 4 

(c) 1 and 4  

(d) 1, 2, 3 and 4 

 

 

8. 140. Assertion (A): All the proteins in our food are digested in small 

intestine only. 

Reason (R): The protein-digesting enzyme from pancreas are released into 

small intestine.  

(a) Both A and R are individually true and R is the correct explanation of A 

(b) Both A and Rare individually true but R is not the correct explanation of A 

(c) A is true but R is false 

(d) A is false but R is true 

 

 

9. Assertion (A): Amoeba reproduces by fission. 

Reason (R): All unicellular organisms reproduce by asexual methods. 

(a) Both A and R are individually true and R is the correct explanation of A 

(b) Both A and Rare individually true but R is not the correct explanation of A 

(c) A is true but R is false 

(d) Ais false but R is true 

 

 

10. Assertion (A): The person with Diabetes insipidus feels thirsty. 

Reason (R): A person with Diabetes insipidus suffers from excess secretion 

of vasopressin.  

(a) Both A and R are individually true and R is the correct explanation of A 

(b) Both A and Rare individually true but R is not the correct explanation of A 



 

 

(c) A is true but R is false 

(d) Ais false but R is true 

 

 

11. Pneumoconiosis affects the workers who work mainly in 

(a) Tanneries 

(b) Coal mining industry 

(c) Distillerie 

(d) Glass industry 

 

 

12. Consider the following statements:  

1. Kyoto protocol came into force in the year 2005. 

2. Kyoto protocol deals primarily with the depletion of the ozone layer. 

3. Methane as a green house gas is more harmful than carbon dioxide. 

Which of the statements given above is/are correct? 

(a) 1 and 2  

(b) 1 and 3 

(c) 1 only  

(d) 3 only 

 

 

 

 

 

13. Which one of the following is the landmark performance of Dr. V. Mohan 

Reddy, an Indian, born doctor working in U.S.A. during February, 2005?  

a. Research on human stem cell which is likely to revolutionise treatment of deadly 

disease like cancer. 

b. Successful open heart procedure called arterial switch performed on an 

infant. 

c. Research on genetic engineering which can help in treatment of deadly disease like 

AIDS. 



 

 

d. Successful brain surgery to revive the function of nearly dead brain of a premature 

born infant. 

 

 

 

 

 

 

 

 

 

 

 

 

Science 2004 
 

 

1. A car is running on a road at a uniform speed of 60 km/h. The net resultant 

force on the car is:  

(a) driving force in the direction of car’s motion 

(b) resistance force opposite to the direction of car’s motion 

(c) an inclined force 

(d) equal to zero 

 

 

2. A spherical body moves with a uniform angular velocity (ω) around a 

circular path of radius r. Which one of the following statements is correct?  



 

 

(a) The body has no acceleration 

(b) The body has a radial acceleration ω2r directed toward centre of path 

(c) The body has a radial acceleration 2/5ω2r directed away from the centre of the path 

(d) The body has an acceleration ω2 tangential to its path 

 

 

3. A weightless rubber balloon is filled with 200 cc of water. Its weight in 

water is equal to:  

(a) 9.8/5 N  

(b) 9.8/10 N 

(c) 9.8/2 N  

(d) zero 

 

 

 

 

4. Assertion (A): In our houses, the current in A.C. electricity line changes 

direction 60 times per second. 

Reason (R): The frequency of alternating voltage supplied is 50 Hz. 

(a) Both A and R are individually true and R is the correct explanation of A 

(b) Both A and R are individually true but R is not the correct explanation of A 

(c) A is true but R is false 

(d) A is false but R is true 

 

 

5. Consider the following statements:  

1. Baking soda is used in fire extinguishers. 

2. Quick lime is used in the manufacture of glass. 

3. Gypsum is used in the manufacture of plaster of Paris. 

Which of the statements given above is/are correct? 

(a) 1 and 2  

(b) 2 and 3  

(c) 1 only  



 

 

(d) 1, 2 and 3 

 

 

6. Salts of which of the following elements provide colours to fireworks?  

(a) Zinc and sulphur  

(b) Potassium and mercury 

(c) Strontium and barium  

(d) Chromium and nickel 

 

 

 

 

 

7. Match List-I (Fuel gases) with List-II (Major constituents) and select the 

correct answer using the codes given below the lists:  

List-I    List-II 

A. CNG    1. Carbon monoxide, Hydrogen 

B. Coal gas   2. Butane, Propane 

C. LPG    3. Methane, Ethane 

D. Water gas   4. Hydrogen, Methane, Carbon monoxide 

Codes: 

(a) A-2; B-1; C-3; D-4  

(b) A-3; B-4; C-2; D-1 

(c) A-2; B-4; C-3; D-1  

(d) A-3; B-1; C-2; D-4 

 

 

8. Consider the following statements: 

1. Non-functioning of lachrymal gland is an important symptom of deficiency of Vitamin 

A. 

2. Deficiency of Vitamin B1 can lead to indigestion and heart enlargement. 

3. Vitamin C deficiency can lead to pain in the muscles.  

4. Deficiency of Vitamin D causes increased loss of Ca++ in urine. 



 

 

Which of the statements given above are correct? 

(a) 1 and 2  

(b) 2, 3 and 4 

(c) 1, 3 and 4  

(d) 1, 2, 3 and 4 

 

 

9. The hormone insulin is a  

(a) glycolipid  

(b) fatty acid 

(c) peptide  

(d) sterol 

 

 

10. Consider the following statements:  

1. Toothless mammals such as Pangolins are not found in India. 

2. Gibbon is the only ape found in India. 

Which of the statements given above is/are correct? 

(a) 1 only  

(b) 2 only 

(c) Both 1 and 2  

(d) Neither 1 nor 2 

 

 

11. In which organ of the human body, lymphocyte cells formed? 

(a) Liver  

(b) Long bone  

(c) Pancreas  

(d) Spleen 

 

 

12. Assertion (A): Fatty acids should be a part of the balanced human diet. 

Reason (R) : The cells of the human body cannot synthesize any fatty acids.  



 

 

(a) Both A and R are individually true and R is the correct explanation of A 

(b) Both A and Rare individually true but R is not the correct explanation of A 

(c) A is true but R is false 

(d) Ais false but R is true 

 

 

13. Consider the following statements:  

1. Femur is the longest bone in the human body. 

2. Cholera is a disease caused by bacteria. 

3. ‘Athlete’s foot’ is a disease caused by virus. 

Which of the statements given above are correct? 

(a) 1 and 2  

(b) 2 and 3 

(c) 1 and 3  

(d) 1, 2 and 3 

 

 

14. Consider the following statements:  

1. Smart card is a plastic card with an embedded microchip. 

2. Digital technology is primarily used with new physical communication medium such 

as satellite and fibre optics transmission. 

3. A digital library is a collection of documents in an organized electronic form available 

on the internet only. 

Which of the statements given above is/are correct? 

(a) 3 only  

(b) 1 and 2 

(c) 2 and 3  

(d) 1, 2 and 3 

 

 

15. Consider the following statements:  

1. Adam Osborne introduced the first portable computer. 

2. Ian Wilmut created the first cloned sheep. 



 

 

Which of the statements given above is/are correct? 

(a) 1 only  

(b) 2 only 

(c) Both 1 and 2  

(d) Neither 1 nor 2 

 

 

Science 2003 
 

 

1. Assertion (A): The weight of a body decreases with the increase of altitude on 

earth. 

Reason (R): The earth is not a perfect sphere.  

Codes: 

(a) Both A and R are true and R is the correct explanation of A 

(b) Both A and R are true but R is not a correct explanation of A 

(c) A is true but R is false 

(d) A is false but R is true 

 

 

2. Consider the following statements:  

A 4-wheel vehicle moving in a sharp circular path at high speed will: 

1. overturn about its outer wheels 

2. overturn about its inner wheels 

3. skid outwards 

4. skid inwards 

Which of these statements are correct? 

(a) 1 and 3  

(b) 2 and 4 

(c) 2 and 3  

(d) 1 and 4 

 



 

 

 

 

 

 

3. An oil tanker partially filled with oil moves forward on a level road with 

uniform acceleration. The free surface of oil then:  

(a) remains horizontal 

(b) is inclined to the horizontal with smaller depth at the rear end 

(c) is inclined to the horizontal with larger depth at the rear end 

(d) assumes a parabolic curve 

 

 

4. If the radius of the earth were to shrink by one per cent, its mass 

remaining the same, the value of g on the earth’s surface would:  

(a) increase by 0.5%  

(b) increase by 2% 

(c) decrease by 0.5%  

(d) decrease by 2% 

 

 

5. Consider the following statements:  

1. Steam at 100°C and boiling water at 100°C contain same amount of heat. 

2. Latent heat of fusion of ice is equal to the latent heat of vaporization of water. 

3. In an air-conditioner, heat is extracted from the room air at the evaporator coils and 

is rejected out at the condenser coils. 

Which of these statements is/are correct? 

(a) 1 and 2  

(b) 2 and 3 

(c) Only 2  

(d) Only 3 

 

 

 



 

 

 

 

6. Diffusion of light in the atmosphere takes place due to: 

(a) carbon dioxide  

(b) dust particles  

(c) helium  

(d) water vapours 

 

 

7. Which one of the following statements is not correct? 

(a) The velocity of sound in air increases with the increase of temperature 

(b) The velocity of sound in air is independent of pressure 

(c) The velocity of sound in air decreases as the humidity increases 

(d) The velocity of sound in air is not affected by the change in amplitude and frequency 

 

 

8. With reference to ionic compounds, consider the following statements:  

1. Ionic compounds are insoluble in alcohol. 

2. Ionic compounds in the solid state are good conductor of electricity. 

Which of these statements is/are correct? 

(a) Only 1  

(b) Only 2 

(c) Both 1 and 2  

(d) Neither 1 nor 2 

 

 

9. Regarding the atom of a chemical element, the magnetic quantum number 

refers to 

(a) orientation  

(b) shape 

(c) size  

(d) spin 

 



 

 

10. Which one of the following statements is correct? 

(a) Liquid sodium is employed as a coolant in nuclear reactors. 

(b) Calcium carbonate is an ingredient of tooth paste. 

(c) Bordeaux mixture consists of sodium sulphate and lime. 

(d) Zinc amalgams are used as a dental filling. 

 

 

11. Which one of the following statements is NOT correct?  

(a) The presence of NaCl increases the rate of setting of plaster of Paris. 

(b) Gypsum is added to the cement to slow down its rate of setting. 

(c) All alkaline earth metals form hydrated salts. 

(d) Barium and strontium are found free in nature. 

 

 

12. Assertion (A): In the periodic table of chemical elements, electron affinity 

is always found to increase from top to bottom in a group 

Reason (R): In a group, the atomic radii generally increase from top to 

bottom.  

(a) Both A and R are individually true and R is the correct explanation of A  

(b) Both A and R are individually true but R is not the correct explanation of A 

(c) A is true but R is false 

(d) A is false but R is true 

 

 

13. Assertion (A): Coal-based thermal power stations contribute to acid-rain.  

Reason (R): Oxides of carbon are emitted when coal burns. 

(a) Both A and R are individually true and R is the correct explanation of A 

(b) Both A and R are individually true but R is not the correct explanation of 

A 

(c) A is true but R is false 

(d) A is false but R is true 

 

 



 

 

14. The purpose of adding sodium sulphate and sodium silicate to the 

detergent in a washing powder is  

1. to keep the washing powder dry. 

2. to maintain the alkalinity of the powder. 

Which of these statements is/are correct? 

(a) only 1  

(b) Only 2 

(c) Both 1 and 2  

(d) Neither 1 nor 2 

 

 

15. Which one of the following is produced during the formation of 

photochemical smog? 

(a) Hydrocarbons  

(b) Nitrogen Oxide 

(c) Ozone  

(d) Methane 

 

 

16. Consider the following statements: 

1. The common blue green algae, Spirogyra and Ulothrix, are found in both fresh water 

ponds and oceans. 

2. The Chameleon can look ahead with one eye, and at the same time look behind with 

another. 

Which of these statements is/are correct? 

(a) Only 1  

(b) Only 2 

(c) Both 1 and 2  

(d) Neither 1 nor 2 

 

 

17. Assertion (A): Unsaturated fats are more reactive compared with the 

saturated fats. 



 

 

Reason (R): Unsaturated fats have only single bonds in their structure.  

(a) Both A and R are individually true and R is the correct explanation of A 

(b) Both A and R are individually true but R is not the correct explanation of A 

(c) A is true but R is false 

(d) A is false but R is true 

 

 

18. Consider the following statements:  

1. Molasses is a by-product of sugar production process. 

2. Bagasse obtained in the sugar mills is used as a fuel in the boilers to generate steam 

for the sugar factories. 

3. Sugar can only be produced from sugarcane as the raw material. 

Which of these statements are correct? 

(a) 1 and 2  

(b) 2 and 3 

(c) 1 and 3  

(d) 1, 2 and 3 

 

 

19. Octopus is  

(a) an arthropod  

(b) an echinoderm 

(c) a hemichordate  

(d) a mollusk 

 

 

20. Consider the following conditions of a sick human body 

1. Swollen lymph nodes  

2. Sweating at night 

3. Loss of memory  

4. Loss of weight 

Which of these are symptoms of AIDS? 

(a) 1 and 2  



 

 

(b) 2, 3 and 4 

(c) 1, 3 and 4  

(d) 1, 2, 3 and 4 

 

 

21. With reference to the work of human kidney, consider the following 

statements  

1. After the waste is removed in the kidney, the clean blood is sent back through renal 

artery. 

2. From Bowman’s capsule, the filtered liquid passes through tiny tubes where much of 

the glucose is reabsorbed and sent back to the blood in the renal vein. 

Which of these statements is/are correct? 

(a) Only 1  

(b) Only 2 

(c) Both 1 and 2  

(d) Neither 1 nor 2 

 

 

22. Which one of the following statements is not correct? 

(a) Milk contains none of the B-vitamins. 

(b) Vitamin-A (retinol) deficiency leads to dry and scaly skin. 

(c) One of the symptoms of scurvy is pain in the joints. 

(d) Vitamin B1 (thiamine) deficiency can lead to heart failure. 

 

 

 

 

 

23. With reference to normal human beings, consider the following 

statements:  

1. In response to the presence of HCl, secretin is produced from the duodenum. 

2. Enterogastrone is produced in the small intestine in response to the presence of fatty 

acids. 



 

 

Which of these statements is/are correct? 

(a) Only 1  

(b) Only 2 

(c) Both 1 and 2  

(d) Neither 1 nor 2 

 

 

24. Consider the following animals of India:  

1. Crocodile  

2. Elephant 

Which of these is/are endangered species? 

(a) Only 1  

(b) Only 2 

(c) Both 1 and 2  

(d) Neither 1 nor 2 

 

 

25. Consider the following statements:  

1. India launched its first full-fledged meteorological satellite (METSAT) in September, 

2002 

2. For the first time, the space vehicle PSLV C-4 carried a payload of more than 1000 kg 

into a geosynchronous orbit 

Which of these statement is/are correct? 

(a) Only 1  

(b) Only 2 

(c) Both 1 and 2  

(d) Neither 1 nor 2 

 

Science 2002 
 

 



 

 

1. Assertion (A): With the increase of temperature, the viscosity of glycerine 

increases. 

Reason (R): Rise of temperature increases kinetic energy of molecules.  

Codes: 

(a) Both A and R are true and R is the correct explanation of A 

(b) Both A and R are true but R is not a correct explanation of A 

(c) A is true but R is false 

(d) A is false but R is true 

 

 

2. Assertion (A): An iron ball floats on mercury but gets immersed in water. 

Reason (R): The specific gravity of iron is more than that of mercury.  

Codes: 

(a) Both A and R are true and R is the correct explanation of A 

(b) Both A and R are true but R is not a correct explanation of A 

(c) A is true but R is false 

(d) A is false but R is true 

 

 

3. A solid cube gets completely immersed in water when a 0.2 kg mass is 

placed on it. If the mass is removed, the cube is 2 cm above the water level. What 

is the length of each side of the cube?  

(a) 12 cm  

(b) 10 cm  

(c) 8 cm  

(d) 6 cm 

 

 

4. A hollow sphere of radius R, a hollow cube of side R and a thin circular 

plate of radius R, made up of the same material, are all heated to 20°C above 

room temperature. When left to cool in the room, which of them will reach the 

room temperature first?  

(a) Circular plate 



 

 

(b) Cube 

(c) Sphere 

(d) All of them will reach the room temperature at the same time 

 

 

5. Consider the following statements:  

1. Light of longer wavelength are scattered much more than the light of shorter 

wavelength. 

2. The speed of visible light in water is 0.95 times the speed in vacuum. 

3. Radio waves are produced by rapidly oscillating electrical currents. 

4. To detect the overspeeding vehicles, police use the Doppler effect of reflected short 

radio waves. 

Which of these statements are correct? 

(a) 1 and 2  

(b) 1 and 3 

(c) 2 and 4  

(d) 3 and 4 

 

 

6. Consider the following natural phenomena:  

1. Terrestrial heating 2. Reflection of light 

3. Refraction of light 4. Diffraction of light 

Due to which of these phenomena is a mirage formed ? 

(a) 1 and 2  

(b) 2, 3 and 4 

(c) 1 and 3  

(d) 4 only 

 

 

7. Match List-I (Oxidation number) with List II (The element) and select the 

correct answer using the codes given below the lists :  

List-I    List-II 

(Oxidation number)  (The elements) 



 

 

A. 2    1. Oxidation number of Mn in MnO2 

B. 3    2. Oxidation number of S in H2S2O7 

C. 4    3. Oxidation number of Ca in CaO 

D. 6    4. Oxidation number of Al in NaAlH4  

Codes: 

(a) A-3; B-4; C-1; D-2  

(b) A-4; B-3; C-1; D-2 

(c) A-3; B-4; C-2; D-1  

(d) A-4; B-3; C-2; D-1 

 

 

8. Assertion: Synthetic detergents can lather well in hard water. 

Reason (R): Synthetic detergents form soluble calcium and magnesium salts 

with hard water.  

(a) Both A and R are true and R is the correct explanation of A 

(b) Both A and R are true but R is not the correct explanation of A 

(c) A is true but R is false 

(d) A is false but R is true 

 

 

 

 

9. In a bisexual flower, if androecium and gynoecium mature at different 

times, the phenomenon is known as 

(a) dichogamy  

(b) herkogamy 

(c) heterogamy 

(d) monogamy 

 

 

10. Consider the following plants  

1. Bougainvillea  

2. Carnations 



 

 

3. Cocoa  

4. Grapes 

Which of these plants are propagated by stem cuttings? 

(a) 1 and 2  

(b) 2, 3 and 4 

(c) 1, 3 and 4  

(d) 1, 2, 3 and 4 

 

 

11. In the context of organic evolution, the loss of limbs in snakes is explained 

by the phenomenon of  

(a) use and disuse of organs 

(b) adaptation to living in burrows 

(c) natural selection 

(d) inheritance of acquired characters 

 

 

 

 

12. When one gene controls two or more different characters simultaneously, 

the phenomenon is called  

(a) apomixis  

(b) pleiotropy 

(c) polyploidy  

(d) polyteny 

 

 

13. With reference to the human body, consider the following statements:  

1. The production of somatotropin goes up when a person exercises. 

2. Men’s testes produce progesterone. 

3. Women’s adrenal glands secrete testosterone. 

4. Stress causes the adrenals to release very less amount of cortisol than usual. 

Which of the statements are correct? 



 

 

(a) 1, 2, 3 and 4  

(b) 1, 2 and 3 

(c) 2, 3 and 4  

(d) 1 and 4 

 

 

14. Foot and Mouth disease in animals, a current epidemic in some parts of 

the world, is caused by  

(a) bacterium  

(b) fungus 

(c) protozoan  

(d) virus 

 

 

 

 

15. Match List-I (Indian wild life species) with List-II (Scientific names) and 

select the correct answer using the codes given below:  

List-I     List-II 

(Indian wild life species)   (Scientific names) 

A. Asiatic wild ass   1. Boselaphus tragocamelus 

B. Barasingha    2. Cervus duvauceli 

C. Chinkara    3. Equus hemionus 

D. Nilgai    4. Gazella gazella 

(a) A – 2; B – 3; C – 1; D – 4 

(b) A – 3; B – 2; C – 4; D – 1 

(c) A – 2; B – 3; C – 4; D – 1 

(d) A – 3; B – 2; C – 1; D – 4 

 

 

16. Which one of the following is monogamous?  

(a) Wolf  

(b) Walrus  



 

 

(c) Seal  

(d) Deer 

 

 

17. Which one of the following statements is not correct? 

(a) All echinoderms are viviparous. 

(b) Roundworm has no circulatory system. 

(c) In bony fishes, swim bladder is usually present. 

(d) In cartilaginous fishes, fertilization is internal. 

 

 

 

 

18. Match List-I (Scientists) with List-II (Achievements) and select the correct 

answer using the codes given below: 

List-I (Scientists)    List-II (Achievements) 

A. Arber and Smith  1. Developed transgenic plants with Agrobacterium T-DNA 

B. Feldman   2. Discovered endonucleases 

C. Mullis    3. Discovered reverse transcriptase 

D. Temin and Baltimore 4. Discovered polymerase chain reaction 

(a) A – 2; B – 1; C – 4; D – 3 

(b) A – 1; B – 2; C – 4; D – 3 

(c) A – 2; B – 1; C – 3; D – 4 

(d) A – 1; B – 2; C – 3; D – 4 

 

 

19. Which one of the following statements is correct?  

(a) Prions are the smallest free-living cells. 

(b) The cell wall of Mycoplasma is made up of amino sugars 

(c) Viroids consist of single-stranded RNA molecule 

(d) Rickettsias lack cell wall 

 

 



 

 

20. Assertion (A) : Drinking of whisky increases the frequency of urination. 

Reason (R) : Alcohol intake speeds up the secretion of vasopressin in the 

body.  

(a) Both A and R are true and R is the correct explanation of A 

(b) Both A and R are true but R is not a correct explanation of A 

(c) A is true but R is false 

(d) A is false but R is true 

 

 

 

 

 

21. Assertion (A): Human diet should compulsorily contains glycine, serine 

and tyrosine. 

Reason (R): Essential amino acids cannot be synthesized in the human body.  

(a) Both A and R are true and R is the correct explanation of A 

(b) Both A and R are true but R is not a correct explanation of A 

(c) A is true both R is false 

(d) A is false but R is true 

 

 

22. Among living organisms, which one of the following is the most 

responsible factor for bringing about the origin of a new species?  

(a) Isolation  

(b) Mutation 

(c) Natural selection  

(d) Sexual reproduction 

 

 

23. Ticks and mites are actually 

(a) Arachnids  

(b) Crustaceans 

(c) Insects  



 

 

(d) Myriapods 

 

 

24. With reference to the blood in a normal person, which one of the following 

statements is correct?  

(a) Compared to arteries, veins are less numerous and hold less of the body’s blood at any 

given time 

(b) Blood cells constitute about 70 percent of the total volume of the blood 

(c) White blood cells (WBC) are made by lymph nodes only 

(d) The blood has more platelets than WBC 

 

 

25. With reference to Indian satellites and their launchers, consider the 

following statements: 

1. All the INSAT series of satellites were launched abroad. 

2. PSLVs were used to launch IRS-series of satellites. 

3. India used the indigenously built cryogenic engines foer the first time for powering the 

third stage of GSLV. 

4. GSAT, launched in the year 2001, has payloads to demonstrate digital broadcasts and 

internet services. 

Which of these statements are correct? 

(a) 1, 2, 3 and 4  

(b) 2, 3 and 4 

(c) 1, 2 and 4  

(d) 1 and 3 

 

 

26. Assertion (A): Artificial satellites are always launched from the earth in 

the eastward direction. 

Reason (R): The earth rotates from west to east and so the satellite attains 

the escape velocity.  

(a) Both A and R are true and R is the correct explanation of A 

(b) Both A and R are true but R is NOT a correct explanation of A 



 

 

(c) A is true but R is false 

(d) A is false but R is true 

 

 

27. With reference to the latest developments in stem cell research, consider 

the following statements  

1. The only source of human stem cells are the embryos at blastocyst stage. 

2. The stem cells can be derived without caisining destruction to blastocysts. 

3. The stem cells can regenerate themselves in vitro virtually forever. 

4. Indian research centres also created a few cell lines which can be developed into many 

types of tissues. 

Which of these statements are correct? 

(a) 1, 2 and 4  

(b) 1, 2 and 3 

(c) 1, 2 and 4  

(d) 3 and 4 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

Science 2001 
 

 

1. The mass of a body on earth is 100 kg (acceleration due to gravity, ge = 10 

m/s2. If acceleration due to gravity on the moon is ge / 6, then the mass of the 

body on the moon is:  

(a) 100/6 kg  

(b) 60 kg 

(c) 100 kg  

(d) 600 kg 

 

 

2. Consider the following statements:  

A simple pendulum is set into oscillation. 

Then: 

1. the acceleration is zero when the bob passes through the mean position. 

2. in each cycle the bob attains a given velocity twice. 

3. both acceleration and velocity of the bob are zero when it reaches its extreme position 

during the oscillation. 

4. the amplitude of oscillation of the simple pendulum decreases with time. 

Which of these statements are correct? 

(a) 1 and 2  

(b) 3 and 4 

(c) 1, 2 and 4  

(d) 2, 3 and 4 

 

 

 



 

 

3. Assertion (A): A piece of copper and a piece of glass are heated to the same 

temperature. When touched, thereafter, the copper piece appears hotter than 

the glass piece. 

Reason (R): The density of copper is more than that of glass.  

Codes: 

(a) Both A and R are true and R is the correct explanation of A 

(b) Both A and R are true but R is not a correct explanation of A 

(c) A is true but R is false 

(d) A is false but R is true 

 

 

4. Assertion (A): The boiling point of water decreases as the altitude 

increases. 

Reason (R): The atmospheric pressure increases with altitude.  

Codes: 

(a) Both A and R are true and R is the correct explanation of A 

(b) Both A and R are true but R is not a correct explanation of A 

(c) A is true but R is false 

(d) A is false but R is true 

 

 

5. When water is heated from 0°C to l0°C. Its volume:  

(a) increases 

(b) decreases 

(c) does not change 

(d) first decreases and then increases 

 

 

 

 

 

6. Assertion (A): A stick is dipped in water in a slanting position. If observed 

sideways, the stick appears short and bent at the surface of water. 



 

 

Reason (R): A light coming from the stick undergoes scattering from water 

molecules giving the stick a short and bent appearance.  

(a) Both A and R are true and R is the correct explanation of A 

(b) Both A and R are true but R is not a correct explanation of A 

(c) A is true but R is false 

(d) A is false but R is true 

 

 

7. When light waves pass from air to glass, the variables affected are:  

(a) wavelength, frequency and velocity 

(b) velocity and frequency 

(c) wavelength and frequency 

(d) wavelength and velocity 

 

 

8. Two wires have their lengths, diameters and resistivities all in the ratio of 

1 : 2. If the resistance of the thinner wire is 10 ohm, the resistance of the thicker 

wire is :  

(a) 5 ohm  

(b) 10 ohm 

(c) 20 ohm  

(d) 40 ohm 

 

 

 

 

 

 

 

 

9. Consider the following statements:  

In a nuclear reactor, self-sustained chain reaction is possible, because: 

1. more neutrons are released in each of the fission reactions. 



 

 

2. the neutrons immediately take part in the fission process. 

3. the fast neutrons are slowed down by graphite. 

4. every neutron released in the fission reaction initiates further fission. 

Which of these statements are correct? 

(a) 1, 2 and 3  

(b) 1 and 3 

(c) 2 and 4  

(d) 2, 3 and 4 

 

 

10. In an atom, the order of filling up of the orbitals is governed by  

(a) Aufbau’s principle 

(b) Heisenberg’s uncertainty principle 

(c) Hund’s rule 

(d) Pauli’s exclusion principle 

 

 

11. A radioactive substance has a half-life of four months. Three-fourth of the 

substance would decay in 

(a) 3 months  

(b) 4 months 

(c) 8 months  

(d) 12 months 

 

 

 

 

12. Which one of the following is NOT radioactive?  

(a) Astatine  

(b) Francium 

(c) Tritium  

(d) Zirconium 



 

 

 

 

13. Match List I with List II and select the correct answer using the codes given 

below the lists:  

List-I (Characteristic)   List-II (Particle) 

A. Zero mass    1. Positron 

B. Fractional charge  2. Neutrino 

C. Fractional spin    3. Quark 

D. Integral spin    4. Photon 

Codes: 

(a) A-2; B-3; C-1; D-4  

(b) A-3; B-2; C-4; D-1 

(c) A-2; B-3; C-4; D-1  

(d) A-3; B-2; C-1; D-4 

 

 

14. An aqueous solution of copper sulphate is acidic in nature because the salt 

undergoes  

(a) dialysis  

(b) electrolysis 

(c) hydrolysis  

(d) photolysis 

 

 

 

15. Consider the following statements with reference to the periodic table of 

chemical elements:  

1. Ionisation potential gradually decreases along a period. 

2. In a group of elements, electron affinity decreases as the atomic weight increases. 

3. In a given period, electronegativity decreases as the atomic number increases. 

Which of these statement (s) is/are correct? 

(a) 1 only  

(b) 2 only 



 

 

(c) 1 and 3  

(d) 2 and 3 

 

 

16. Which one of the following is the correct sequence in increasing order of 

molecular weights of the hydrocarbons?  

(a) Methane, ethane, propane and butane 

(b) Propane, butane, ethane and methane 

(c) Butane, ethane, propane and methane 

(d) Butane, propane, ethane and methane 

 

 

17. Which organelle in the cell, other than nucleus contains DNA?  

(a) Centriole  

(b) Golgi apparatus 

(c) Lysosome  

(d) Mitochondrion 

 

 

 

 

 

 

18. “Athlete’s Foot” is a disease’ caused by  

(a) Bacteria  

(b) Fungus 

(c) Protozoan  

(d) Nematode 

 

 

19. Epiphytes are plants which depend on other plants for 

(a) food  

(b) mechanical support 



 

 

(c) shade  

(d) water 

 

 

20. In the eye donation, which part of the eye is transplanted from the donor?  

(a) Cornea  

(b) Lens 

(c) Retina  

(d) The whole eye 

 

 

21. A man whose blood group is not known meets with a serious accident and 

needs blood transfusion immediately. Which one of the blood groups 

mentioned below and readily available in the hospital will be safe for 

transfusion?  

(a) O, Rh–  

(b) O, Rh+ 

(c) AB, Rh–  

(d) AB, Rh+ 

 

 

22. Match List-I with List-II and select the correct answer using the codes 

given below:  

List-I         List-II 

(Achievement in genetics)      (Scientists) 

A. Discovery of transduction and conjugation in bacteria  1. Khurana  

B. Establishing the sex-linked inheritance   2. Kornberg  

C. Isolation of DNA polymerase from E. coli   3. Lederberg  

D. Establishing the complete genetic code   4. Morgan 

         5. Ochoa 

Codes: 

(a) A – 4; B – 3; C – 2; D – 1 

(b) A – 3; B – 4; C – 1; D – 5 



 

 

(c) A – 4; B – 3; C – 1; D – 5 

(d) A – 3; B – 4; C – 2; D – 1 

 

 

23. Which of the following features of DNA makes it uniquely suited to store 

and transmit genetic information from generation to generation?  

(a) Complementary of the two strands 

(b) Double helix 

(c) Number of base-pairs per turn 

(d) Sugar-phosphate backbone 

 

 

24. “Metastasis” is the process by which  

(a) cells divide rapidly under the influence of drugs 

(b) cancer cells spread through the blood or lymphatic system to other sites 

or organs 

(c) the chromosomes in cells nuclei are attached to the spindle before moving to the 

anaphase poles 

(d) cancer cells are successfully inhibited to divide any further 

 

 

25. Match List-I with List-II and select the correct answer using the codes 

given below the lists  

List-I     List-II 

(Substance)    (Physiological role) 

A. Ptyalin     1. Converts angiotensinogen in blood into 

angiotensin 

B. Pepsin     2. Digests starch 

C. Renin     3. Digests proteins 

D. Oxytocin    4. Hydrolyses fats 

     5. Induces contraction of smooth muscles 

(a) A – 2; B – 3; C – 1; D – 5 

(b) A – 3; B – 4; C – 2; D – 5 



 

 

(c) A – 2; B – 3; C – 5; D – 1 

(d) A – 3; B – 1; C – 2; D – 4 

 

 

26. Antigen is a substance which  

(a) destroys harmful bacteria 

(b) is used to treat poisoning 

(c) lowers body temperature 

(d) stimulates formation of antibody 

 

 

27. Which organelle in the cell, other than nucleus, contains DNA? 

(a) Centriole  

(b) Golgi apparatus 

(c) Lysosome  

(d) Mitochondrion 

 

 

28. Which of the following cell organelles play the most significant role in 

protein synthesis?  

(a) Lysosome and Centrosome 

(b) Endoplasmic reticulum and Ribosome 

(c) Golgi apparatus and Mitochondria 

(d) Lysosome and Mitochondria 

 

 

29. The cellular and molecular control of programmed cell death is known as 

(a) apoptosis  

(b) ageing 

(c) degeneration  

(d) necrosis 

 

 



 

 

30. Match List-I with List-II and select the correct answer using the codes 

given below 

List-I (Bone)    List-II (Name) 

A. Breast-bone    1. Clavicle 

B. Collar-bone    2. Patella 

C. Knee-cap    3. Scapula 

D. Shoulder blade    4. Sternum 

Codes: 

(a) A – 4; B – 1; C – 3; D – 2 

(b) A – 1; B – 4; C – 3; D – 2 

(c) A – 1; B – 4; C – 2; D – 3 

(d) A – 4; B – 1; C – 2; D – 3 

 

 

 

 

31. Consider the following statements  

1. Tapeworm is a hermaphrodite. 

2. Round-worm has separate sexes. 

3. Filaria is caused by a nematode. 

4. Guinea-worm is an annelid. 

Which of these are correct? 

(a) 1 and 2  

(b) 1, 2 and 3  

(c) 3 and 4  

(d) 2, 3 and 4 

 

 

32. The American multinational company, Monsanto, has produced an insect-

resistant cotton variety that is undergoing field trials in India. A toxic gene from 

which one of the following bacteria has been transferred to this transgenic 

cotton?  

(a) Bacillus subtilis 



 

 

(b) Bacillus thuringiensis 

(c) Bacillus anyloliquifanciens 

(d) Bacillus globlii 

 

 

 

 

 

 

 

 

Science 2000 
 

 

1. Consider the following features of newer models of motor cars:  

1. Radial tyres 

2. Streamlined body 

3. Multipoint fuel injection 

4. Catalytic converter with exhaust 

Which of these features make the new models of motor cars more fuel 

efficient? 

(a) 1 and 2  

(b) 2 and 3 

(c) 2, 3 and 4  

(d) 1, 3 and 4 

 

 

2. Assertion (A): A man standing on a completely frictionless surface can 

propel himself by whistling. 



 

 

Reason (R): If no external force acts on a system, its momentum cannot 

change.  

Codes: 

(a) Both A and R are true and R is the correct explanation of A 

(b) Both A and R are true but R is not a correct explanation of A 

(c) A is true but R is false 

(d) A is false but R is true 

 

 

3. A noise level of 100 decibel would correspond to:  

(a) Just audible sound 

(b) Ordinary conversation 

(c) Sound from a noisy street 

(d) Noise from a machine shop 

 

 

4. Assertion (A): In a motion picture, usually 24 frames are projected every 

second over the whole length of the film. 

Reason (R): An image formed on the retina of eye persists for about 0.1 s after 

the removal of stimulus. 

Codes: 

(a) Both A and R are true and R is the correct explanation of A 

(b) Both A and R are true but R is not a correct explanation of A 

(c) A is true but R is false 

(d) A is false but R is true 

 

 

5. Assertion (A): Small glass beads fixed on traffic signals glow brightly when 

light falls upon them. 

Reason (R): Light is totally reflected when the angle of incidence exceeds a 

certain critical value and light travelling in a denser medium is reflected from 

a rarer medium. 

Codes: 



 

 

(a) Both A and R are true and R is the correct explanation of A 

(b) Both A and R are true but R is not a correct explanation of A 

(c) A is true but R is false 

(d) A is false but R is true 

 

 

 

 

 

 

6. When a CD (compact disc used in audio and video systems) is seen in 

sunlight, rainbow like colours are seen. This can be explained on the basis of the 

phenomenon of: 

(a) reflection and diffraction 

(b) reflection and transmission 

(c) diffraction and transmission 

(d) refraction, diffraction and transmission 

 

 

7. Fluorescent tubes are fitted with a choke. The choke coil: 

(a) steps up the line voltage 

(b) steps-down the line voltage 

(c) reduces current in the circuit 

(d) chokes low frequency current 

 

 

8. For reproducing sound, a CD (Compact Disc) audio player uses a :  

(a) quartz crystal  

(b) titanium needle 

(c) laser beam  

(d) barium titanate ceramic 

 

 



 

 

9. Which one of the following does a TV remote control unit use to operate a 

TV set? 

(a) Light waves  

(b) Sound waves 

(c) Microwaves  

(d) Radio waves 

 

 

10. A ‘black hole’ is a body in space which does not allow any radiation to come 

out. This property is due to its: 

(a) very small size  

(b) very large size 

(c) very high density  

(d) very low size 

 

 

11. Assertion (A): Large cold storage plants use ammonia as refrigerant while 

domestic refrigerators use chlorofluorocarbons. 

Reason (R): Ammonia can be liquefied at ambient temperature and low 

pressure.  

(a) Both A and R are true and R is the correct explanation of A 

(b) Both A and R are true but R is not a correct explanation of A 

(c) A is true but R is false 

(d) A is false but R is true 

 

 

12. Most of the explosions in mines occur due to the mixing of  

(a) hydrogen with oxygen 

(b) oxygen with acetylene 

(c) methane with air 

(d) carbon dioxide with ethane 

 

 



 

 

 

 

 

 

 

13. Match List-I with List-II and select the correct answer using the codes 

given below the lists:  

List-I    List-II 

A. German silver  1. Tin 

B. Solder    2. Nickel 

C. Bleaching powder  3. Sodium 

D. Hypo    4. Chlorine 

Codes: 

(a) A-1; B-2; C-4; D-3  

(b) A-2; B-1; C-3; D-4 

(c) A-1; B-2; C-3; D-4  

(d) A-2; B-1; C-4; D-3 

 

 

14. Which one of the following materials is very hard and very ductile?  

(a) Carborundum  

(b) Tungsten 

(c) Cast iron  

(d) Nichrome 

 

 

15. Aluminium surface are often ‘anodized’. This means the deposition of a 

layer of  

(a) chromium oxide  

(b) aluminium oxide 

(c) nickel oxide  

(d) zinc oxide 



 

 

 

 

 

 

16. Consider the following statements: Hard water is not suitable for [2000] 

1. drinking 

2. washing clothes with soap 

3. use in boilers 

4. irrigating crops 

Which of these statements are correct? 

(a) l and 3  

(b) 2 and 3 

(c) 1, 2 and 4  

(d) 1, 2, 3 and 4 

 

 

17. Match List-I (Industrial process) with List-II (Industry with which 

associated) and select the correct answer using the codes given below the lists:  

List-I    List-II 

A. Cracking   1. Rubber 

B. Smelting   2. Petroleum 

C. Hydrogenation  3. Copper 

D. Vulcanization  4. Edible fats 

Codes: 

(a) A-3; B-2; C-1; D-4  

(b) A-2; B-3; C-4; D-1 

(c) A-2; B-3; C-1; D-4  

(d) A-3; B-2; C-4; D-1 

 

 

 

 

 



 

 

 

18. Which one of the following organisms can serve as a biofertilizer for rice 

crop?  

(a) Blue-green algae  

(b) Rhizobium sp. 

(c) Mycorrhizal fungi  

(d) Azotobacter sp. 

 

 

19. Phytotron is a facility to  

(a) grow plants under disease-free conditions 

(b) conserve endangered species of plants 

(c) grow plants under controlled conditions 

(d) induce mutations  

 

 

20. Soft drinks such as colas contain significant quantities of : 

(a) caffeine  

(b) nicotine 

(c) tannin  

(d) rennin 

 

 

21. Canola refers to special type of oil seed mustard varieties bred for human 

consumption. The main characteristic of these varieties is that the 

(a) seeds have very high oil content 

(b) oil is rich in unsaturated fatty acids 

(c) oil has long shelf-life 

(d) oil has very low erucic acid content 

 

 

22. Assertion (A) : In human being, the females play a major role in 

determining the sex of the offspring. 



 

 

Reason (R) : Women have two ‘X’ chromosomes.  

Codes : 

(a) Both A and R are true and R is the correct explanation of A 

(b) Both A and R are true but R is not a correct explanation of A 

(c) A is true but R is false 

(d) A is false but R is true 

 

 

23. At which stage in its life cycle, does the silk worm yield the fibre of 

commerce?  

(a) Egg  

(b) Larva 

(c) Pupa  

(d) Imago 

 

 

24. Match List-I (Disease) with List-II (Types of disease) and select the correct 

answer using the codes given below: 

List-I     List-II 

A. Haemophilia    1. Deficiency disease 

B. Diabetes    2. Genetic disease 

C. Rickets     3. Hormonal disorder 

D. Ringworm    4. Fungal infection 

(a) A – 2; B – 3; C – 4; D – 1 

(b) A – 2; B – 3; C – 1; D – 4 

(c) A – 3; B – 2; C – 1; D – 4 

(d) A – 3; B – 2; C – 4; D – 1 

 

 

25. The blood glucose level is commonly expressed as  

(a) mm. of Hg     

(b) milligram per decilitre 

(c) parts per million  



 

 

(d) gram per litre 

 

 

26. Match List-I (Endocrine glands) with List-II (Hormones secreted) and 

select the correct answer using the codes given below:  

List-I     List-II 

A. Gonads    1. Insulin 

B. Pituitary    2. Progesterone 

C. Pancreas    3. Growth hormones 

D. Adrenal    4. Cortisone 

(a) A – 3; B – 2; C – 4; D – 1 

(b) A – 2; B – 3; C – 4; D – 1 

(c) A – 2; B – 3; C – 1; D – 4 

(d) A – 3; B – 2; C – 1; D – 4 

 

 

27. The sensation of fatigue in the muscles after prolonged strenuous physical 

work is caused by  

(a) a decrease in the supply of oxygen 

(b) minor wear and tear of muscle fibres 

(c) the depletion of glucose 

(d) the accumulation of lactic acid 

 

 

28. A small pouch containing silica gel is often found in bottles of medicine in 

tablet or powder form because silica gel  

(a) kills bacteria 

(b) kills germs and spores 

(c) absorbs moisture 

(d) absorbs all gases present inside the bottle 

 

 



 

 

29. Within biological communities, some species are important in 

determining the ability of a large number of other species to persist in the 

community. Such species are called  

(a) Keystone species  

(b) Allopatric species 

(c) Sympatric species  

(d) Threatened species 

 

 

30. Assertion (A): “DNA finger printing” has become a powerful tool to 

establish paternity and identity of criminals in rape and assault cases. 

Reason (R): Trace evidences such as hairs, saliva and dried semen are 

adequate for DNA analysis.  

Codes: 

(a) Both A and R are true and R is the correct explanation of A 

(b) Both A and R are true but R is not a correct explanation of A 

(c) A is true but R is false 

(d) A is false but R is true 

 

 

31. Insect-resistant cotton plants have been genetically engineered by 

inserting a gene from a/an  

(a) virus  

(b) bacterium 

(c) insect  

(d) plant 

 

 

32. Hybridoma technology is a new biotechnological approach for 

commercial production of 

(a) monoclonal antibodies 

(b) interferon 

(c) antibiotics  



 

 

(d) alcohol 

 

 

33. The memory of a computer is commonly expressed in terms of kilobytes 

or megabytes. A byte is made up of:  

(a) eight binary digits 

(b) eight decimal digits 

(c) two binary digits 

(d) two decimal digits 

 

 

 

 

 

 

 

 

 

 

Science 1999 
 

 

1. A hunter aims his gun at a point between the eyebrows of a monkey sitting on 

a branch of a tree. Just as he fires, the monkey jumps down. The bullet will : 

(a) hit the monkey at the point aimed 

(b) hit the monkey below the point aimed 

(c) hit the monkey above the point aimed 



 

 

(d) miss the monkey altogether 

 

 

2. For which one of the following is capillarity not the reason? 

(a) Blotting of ink 

(b) Rising of underground water 

(c) Spread a water drop on a cotton cloth 

(d) Rising of water from the roots of a plant to its foliage 

 

 

3. Low temperatures (cryogenics) find application in :  

(a) space travel, surgery and magnetic levitation 

(b) surgery, magnetic levitation and telemetry 

(c) space travel, surgery and telemetry 

(d) space travel, magnetic levitation and telemetry 

 

 

 

 

 

 

 

4. Match List I (Quantity) with List II (Units) and select the correct answer 

using the codes given below the lists:  

List-I    List-II 

A. High speed   1. Mach 

B. Wavelength   2. Angstrom 

C. Pressure   3. Pascal 

D. Energy   4. Joule 

Codes: 

(a) A-2, B-1, C-3, D-4  

(b) A-1, B-2, C-4, D-3 

(c) A-1, B-2, C-3, D-4  



 

 

(d) A-2, B-1, C-4, D-3 

 

 

5. Consider the following statements:  

1. If a person looks at a coin which is in a bucket of water, the coin will appear to be closer 

than it really is. 

2. If a person under water looks at a coin above the water surface, the coin will appear to 

be at a higher level than it really is. 

Which of the above statements is/are correct? 

(a) 1 and 2  

(b) 1 alone 

(c) 2 alone  

(d) neither 1 nor 2 

 

 

 

 

 

 

 

6. Consider the following statements:  

An ordinary light bulb has a rather short life because the: 

1. filament wire is not uniform. 

2. bulb cannot be evacuated completely. 

3. wires supporting the filament melt at high temperatures. 

Which of the above statements are correct? 

(a) 1 and 3  

(b) 2 and 3 

(c) 1 and 2  

(d) 1, 2 and 3 

 

 

7. Consider the following statements regarding a motor car battery:  



 

 

1. The voltage is usually 12 V. 

2. Electrolyte used is hydrochloric acid. 

3. Electrodes are lead and copper. 

4. Capacity is expressed in ampere-hour. 

Which of the above statements are correct? 

(a) 1 and 2  

(b) 2 and 3 

(c) 3 and 4  

(d) 1 and 4 

 

 

8. Barium in a suitable form is administered to patients before an X-ray 

examination of the stomach, because  

a. barium allows X-rays to pass through the stomach on account of its transparency to 

X-rays. 

b. barium is a good absorber of g-rays and this helps the stomach to appear clearly in 

contrast with the other regions in the picture. 

c. barium is a good absorber of X-rays and this helps the stomach to appear 

clearly in contrast with the other regions in the picture. 

d. barium salts are white in colour and this helps the stomach to appear clearly in 

contrast with other regions in the pictures. 

 

 

9. Cobalt-60 is commonly used in radiation therapy because it emits  

(a) alpha rays  

(b) beta rays 

(c) gamma rays  

(d) X-rays 

 

 

10. Assertion (A) : To dilute sulphuric acid, acid is added to water and not 

water to acid.  

Reason (R) : Specific heat of water is quite large. 



 

 

(a) Both A and R are true and R is the correct explanation of A 

(b) Both A and R are true but R is not the correct explanation of A 

(c) A is true but R is false 

(d) A is false but R is true 

 

 

11. Match List-I (Naturally occurring substances) with List-II (Elements) and 

select the correct answer using the codes given the lists:  

List-I    List-II 

A. Diamond   1. Calcium 

B. Marble    2. Silicon 

C. Sand    3. Aluminium 

D. Ruby    4. Carbon 

Codes: 

(a) A-3; B-1; C-2; D-4  

(b) A-4; B-2; C-1; D-3 

(c) A-2; B-1; C-3; D-4  

(d) A-4; B-1; C-2; D-3 

 

 

12. Which one of the following is a useful functional association between 

fungi and the roots of higher plants? 

(a) Biofertilizer  

(b) Coralloid root 

(c) Lichen  

(d) Mycorrhiza 

 

 

13. Endoscopy, a technique used to explore the stomach or other inner parts 

of the body is based on the phenomenon of 

(a) total internal reflection  

(b) interference 

(c) diffraction 



 

 

(d) polarization 

 

 

14. When ants bite, they inject  

(a) glacial acetic acid  

(b) methanol 

(c) formic acid  

(d) stearic acid 

 

 

15. In eye donation, which one of the following parts of donor’s eye is 

utilized?  

(a) Iris  

(b) Lens 

(c) Cornea  

(d) Retina 

 

 

16. Match the hormones in List-I with items in List-II and select the correct 

answer using the codes given below:  

List- I    List-II 

A. Adrenaline   1. Anger, fear, danger 

B. Estrogen   2. Attracting partners through sense of smell 

C. Insulin    3. Females 

D. Pheromones   4. Glucose 

(a) A – 3; B – 1; C – 4; D – 2 

(b) A – 1; B – 3; C – 2; D – 4 

(c) A – 1; B – 3; C – 4; D – 2 

(d) A – 3; B – 1; C – 2; D – 4 

 

 

17. Match List-I (Drugs/Chemicals) with List -II (Their uses) and select the 

correct answer using the codes given below 



 

 

List-I     List-II 

A. Atropine    1. Local anaesthesia 

B. Ether     2. Heart trouble 

C. Nitroglycerine    3. Dilation of pupil 

D. Pyrethrin    4. Mosquito control 

Codes : 

(a) A – 1; B – 3; C – 2; D – 4 

(b) A – 1; B – 3; C – 4; D – 2 

(c) A – 3; B – 1; C – 4; D – 2 

(d) A – 3; B – 1; C – 2; D – 4 

 

 

18. Which one of the following genetic diseases is sex-linked? 

(a) Royal haemophilia  

(b) Tay-Sachs disease 

(c) Cystic fibrosis  

(d) Hypertension 

 

 

19. Lathyrism is caused by excessive consumption of  

(a) khesari dal  

(b) mustard oil 

(c) polished rice  

(d) mushrooms 

 

 

20. Assertion (A): Insect resistant transgenic cotton has been produced by 

inserting Bt gene. 

Reason (R): The Bt gene is derived from a bacterium. 

(a) Both A and R are true and R is the correct explanation of A 

(b) Both A and R are true but R is not a correct explanation of A 

(c) A is true but R is false 

(d) A is false but R is true 



 

 

 

 

21. Assertion (A): Dolly was the first cloned mammal. 

Reason (R): Dolly was produced by in vitro fertilization. 

(a) Both A and R are true and R is the correct explanation of A 

(b) Both A and R are true but R is not a correct explanation of A 

(c) A is true but R is false 

(d) A is false but R is true 

 

 

22. Assertion (A): Information technology is fast becoming a very important 

field of activity in India. 

Reason (R): Software is one of the major exports of the country and India has 

a very strong base in hardware. 

Codes: 

(a) Both A and R are true and R is the correct explanation of A 

(b) Both A and R are true but R is not a correct explanation of A 

(c) A is true but R is false 

(d) A is false but R is true 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

Science 1998 
 

 

1. A ball is dropped from the top of a high building with a constant acceleration 

of 9.8 m/s2. What will be its velocity after 2 seconds?  

(a) 9.8 m/s  

(b) 19.6 m/s 

(c) 29.4 m/s  

(d) 39.2 m/s 

 

 

2. A fuse is used in mains electric supply as a safety device. 

Which one of the following statements about the fuse is correct?  

(a) It is connected in parallel with the main switch 

(b) It is made mainly from silver alloys 

(c) It must have a low melting point 

(d) It must have very high resistance 

 

 

3. Assertion (A): The temperature of a metal wire rises when an electric 

current is passed through it. 

Reason (R): Collision of metal atoms with each other releases heat energy.  

Codes: 

(a) Both A and R are true and R is the correct explanation of A 

(b) Both A and R are true but R is not a correct explanation of A 



 

 

(c) A is true but R is false 

(d) A is false but R is true 

 

 

 

4. One astronomical unit is the average distance between: 

(a) Earth and the Sun  

(b) Earth and the Moon 

(c) Jupiter and the Sun  

(d) Pluto and the Sun 

 

 

5. Match the names of outstanding Indian scientists given in List I with area 

of their specialized work given in List II and select the correct answer by using 

the codes given below the lists:  

List- I     List-II 

A. Dr. Raja Ramanna   1. Plant chemistry 

B. Dr. M.S. Swaminathan  2. Nuclear physics 

C. Prof. U.R Rao    3. Thermodynamicsn & astrophysics 

D. Prof. Meghnad Saha   4. Space research 

     5. Agricultural science 

Codes: 

(a) A-3; B-5; C-2; D-1  

(b) A-2; B-1; C-4; D-3 

(c) A-2; B-5; C-4; D-3  

(d) A-3; B-1; C-4; D-2 

 

 

6. Which one of the following elements is essential for the construction of 

nuclear reactors? 

(a) Cobalt  

(b) Nickel 

(c) Zirconium  



 

 

(d) Tungsten 

 

 

7. Match List I with List II and select the correct answer using the codes given 

below the lists:  

List- I    List-II 

A. Blue vitriol   1. Sodium bicarbonate 

B. Epsom salt   2. Sodium hydroxide 

C. Baking soda   3. Magnesium sulphate 

D. Caustic soda   4. Copper sulphate 

Codes: 

(a) A-3; B-4; C-2; D-1  

(b) A-4; B-3; C-2; D-1 

(c) A-3; B-4; C-1; D-2  

(d) A-4; B-3; C-1; D-2 

 

 

8. Match List-I with List-II and select the correct answer using the codes 

given below the lists:  

List-I     List-II 

A. Potassium bromide   1. Fertiliser 

B. Potassium nitrate   2. Photography 

C. Potassium sulphate   3. Bakery 

D. Monopotassium tartarate  4. Gun powder 

Codes: 

(a) A-2; B-4; C-1; D-3  

(b) A-2; B-3; C-1; D-4 

(c) A-4; B-2; C-3; D-1  

(d) A-4; B-2; C-1; D-3 

 

 

9. Consider the following statements: 



 

 

Coke is one of the materials of the charge added to blast furnace for the 

production of steel/iron. Its function is to 

1. act as the reducing agent. 

2. remove silica associated with the iron ore. 

3. function as fuel; to supply heat. 

4. act as an oxidizing agent. 

Of these statements 

(a) 1 and 2 are correct  

(b) 2 and 4 are correct 

(c) 1 and 3 are correct  

(d) 3 and 4 are correct 

 

 

10. Which one of the following metals does not form amalgam?  

(a) Zinc  

(b) Copper 

(c) Magnesium  

(d) Iron 

 

 

11. Assertion (A): Sodium metal is stored under kerosene. 

Reason (R): Metallic sodium melts when exposed to air. 

(a) Both A and R are true and R is the correct explanation of A 

(b) Both A and R are true but R is not the correct explanation of A 

(c) A is true but R is false 

(d) A is false but R is true 

 

 

 

 

 

 

 



 

 

12. Assertion (A): Phenyl is used as a household germicide. 

Reason (R) : Phenyl is phenol derivative and phenol is an effective germicide. 

(a) Both A and R are true and R is the correct explanation of A 

(b) Both A and R are true but R is not the correct explanation of A 

(c) A is true but R is false 

(d) A is false but R is true 

 

 

13. Consider the following statements about acetylene:  

1. It is used in welding industry. 

2. It is a raw material for preparing plastics. 

3. It is easily obtained by mixing silicon carbide and water of these statements. 

(a) 1 and 2 are correct  

(b) 1 and 3 are correct 

(c) 2 and 3 are correct  

(d) 1, 2 and 3 are correct 

 

 

14. Assertion (A): Formic acid is a stronger acid than acetic acid. 

Reason (R): Formic acid is an organic acid.  

(a) Both A and R are true and R is the correct explanation of A 

(b) Both A and R are true but R is not a correct explanation of A 

(c) A is true but R is false 

(d) A is false but R is true 

 

 

15. The water pollution in river is measured by the dissolved amount of  

(a) Chlorine  

(b) Ozone 

(c) Nitrogen  

(d) Oxygen 

 

 



 

 

16. Which one of the following type of micro organisms is most widely used in 

industries? 

(a) Bacteria  

(b) Bacteria and fungi 

(c) Bacteria and algae  

(d) Bacteria, microalgae and fungi 

 

 

17. Match List-I with List-II and select the correct answer by using the codes 

given below the lists  

List-I    List-II 

A. Fruit    1. Ovule 

B. Seed    2. Leaf 

C. Wood    3. Stem 

D. Starch    4. Ovary 

(a) A-2; B-1; C-3; D- 4  

(b) A-4; B-1; C-3; D-2 

(c) A-2; B-3; C-1; D-4  

(d) A-4; B-3; C-1; D-2 

 

 

18. Which one of the following statements regarding starch and cellulose is 

not correct? 

(a) Both of them are of plant origin 

(b) Both of them are polymers 

(c) Both of them give colour with iodine 

(d) Both of them are made up of glucose molecules 

 

 

19. Ergotism is due to consumption of 

(a) contaminated grains  

(b) rotting vegetables 

(c) contaminated water  



 

 

(d) safe cooked food 

 

 

20. Examine the following three statements:  

1. Processed meat is a perishable food 

2. All perishable foods are packed in sealed tins 

3. Sealed tins sometimes do not contain processed meat 

Which one of the following inferences can be drawn from the above 

statements? 

(a) Sealed tins always contain perishable food 

(b) Processed meat is sometimes not packed in sealed tins 

(c) Processed meat is always packed in sealed tins 

(d) Non-perishable foods are never packed in sealed tins 

 

 

21. Match List-I with List-II and select the correct answer using the codes 

given below the lists:  

List-I       List-II 

A. Theory of mutation     1. Beadle and Tatum 

B. Theory of evolution     2. Jacob and Monad 

C. One gene one enzyme hypothesis   3. Darwin  

D. Operon concept     4. de Vries 

Codes : 

(a) A – 3; B – 4; C – 1; D – 2 

(b) A – 4; B – 3; C – 1; D – 2 

(c) A – 4; B – 3; C – 2; D – 1 

(d) A – 3; B – 4; C – 2; D – 1 

 

 

22. A tree species in Mauritius failed to reproduce because of the extinction of 

a fruit-eating bird. Which one of the following was that bird?  

(a) Dove  

(b) Dodo 



 

 

(c) Condor  

(d) Skua 

 

 

23. The complete conversion of glucose, in the presence of oxygen, into 

carbon dioxide and water with release of energy is called  

(a) aerobic respiration  

(b) anaerobic respiration 

(c) glycolysis  

(d) hydrolysis 

 

 

24. Consumption of fish is considered to be healthy when compared to flesh 

of other animals because fish contains 

(a) polyunsaturated fatty acids  

(b) saturated fatty acids 

(c) essential vitamins 

(d) more carbohydrates and proteins 

 

 

 

 

 

 

 

25. Match List-I with List-II and select the answer using the codes given 

below:  

List-I     List-II 

(Disease)     (Organism) 

A. Malaria    1. Fungi 

B. Poliomyelitis    2. Bacteria 

C. Tuberculosis    3. Virus 

D. Ringworm    4. Protozoan 



 

 

(a) A-4; B-3; C-2; D-1 

(b) A-4; B-3; C-1; D-2 

(c) A-3; B-4; C-1; D-2 

(d) A-3; B-4; C-2; D-1 

 

 

26. Haemophilia is a genetic disorder which leads to  

(a) decrease in haemoglobin level 

(b) rheumatic heart disease 

(c) decrease in WBC 

(d) non-clotting of blood 

 

 

 

 

 

 

 

 

 

Science 1997 
 

 

1. The tendency of a liquid drop to contract and occupy minimum area is due to 

:  

(a) surface tension  

(b) viscosity 

(c) density  

(d) vapour pressure 



 

 

 

 

2. Which one of the following is a vector quantity?  

(a) Momentum  

(b) Pressure 

(c) Energy  

(d) Work 

 

 

3. A girl is swinging on a swing in sitting position. When the girl stands up, 

the period of swing will :  

(a) be shorter 

(b) be longer 

(c) depends on the height of the girl 

(d) not change 

 

 

4. The working principle of a washing machine is :  

(a) centrifugation  

(b) dialysis 

(c) reverse osmosis  

(d) diffusion 

 

 

5. Which one of the following is paramagnetic in nature? 

(a) Iron  

(b) Hydrogen 

(c) Oxygen  

(d) Nitrogen 

 

 

6. The tail of a comet is directed away from the sun because:  



 

 

a. as the comet rotates around the sun, the lighter mass of the comet is pushed away due 

to the centrifugal force alone 

b. as the comet rotates, the lighter mass of the comet is attracted by some stars situated 

in the direction of its tail 

c. the radiation emitted by the sun exerts a radial pressure on the comet 

throwing its tail away from the sun 

d. the tail of the comet always exists in the same orientation 

 

 

7. The most reactive among the halogens is  

(a) Fluorine  

(b) Chlorine 

(c) Bromine  

(d) Iodine 

 

 

8. The characteristic odour of garlic is due to  

(a) a chloro compound  

(b) a sulphur compound 

(c) a fluorine compound  

(d) acetic acid 

 

 

9. Which one of the following is an active component of oil of clove?  

(a) Menthol  

(b) Eugenol 

(c) Methanol  

(d) Benzaldehyde 

 

 

10. Which one of the following was used as a chemical weapon in the first 

world war ? 

(a) Carbon monoxide  



 

 

(b) Hydrogen cyanide 

(c) Mustard gas  

(d) Water gas 

 

 

11. Which one of the following has the highest fuel value? 

(a) Hydrogen  

(b) Charcoal  

(c) Natural gas  

(d) Gasoline 

 

 

12. Which one of the following is used as an anti-freeze for the automobile 

engines? 

(a) Propyl alcohol  

(b) Ethanol 

(c) Methanol  

(d) Ethylene glycol 

 

 

13. The pituitary gland by virtue of its tropic hormones controls the secretaoy 

activity of other endocrine glands. Which one of the following endocrine gland 

can function independent of the pituitary gland?  

(a) Thyroid  

(b) Gonads 

(c) Adrenals  

(d) Parathyroid 

 

 

14. Oxygen transportation in a human body takes place through 

1. Blood  

2. Lungs  

3. Tissue 



 

 

The correct sequence of transportation is 

(a) 1, 2, 3  

(b) 3, 1, 2 

(c) 2, 1, 3  

(d) 1, 3, 2 

 

 

15. Corpus luteum is a mass of cells found in  

(a) Brain  

(b) Ovary 

(c) Pancreas  

(d) Spleen 

 

 

 

 

16. Alpha-keratin is a protein, present in  

(a) Blood  

(b) Skin 

(c) Lymph  

(d) Eggs 

 

 

17. What is the average fat content of buffalo milk? 

(a) 7.2%  

(b) 4.5% 

(c) 9.0%  

(d) 10.0% 

 

 

18. The major component of honey is  

(a) glucose  

(b) sucrose 



 

 

(c) maltose  

(d) fructose 

 

 

19. Arteries supplying blood to the heart are called  

(a) Carotid arteries  

(b) Hepatic arteries 

(c) Coronary arteries  

(d) Pulmonary arteries 

 

 

 

 

 

 

20. Daily intake of proteins, recommended for a moderately active woman is 

(a) 30 g  

(b) 37 g 

(c) 40 g  

(d) 46 g 

 

 

21. Match List-I with List-II and select the correct answer by using the codes 

given below: 

List- I    List-II 

A. Malaria   1. Bone marrow 

B. Filaria    2. Brain 

C. Encephalitis   3. Muscle 

D. Leukaemia   4. Lymph node 

    5. Blood cells 

(a) A – 5; B – 3; C – 2; D – 1 

(b) A – 5; B – 4; C – 2; D – 1 

(c) A – 4; B – 3; C – 5; D – 1 



 

 

(d) A – 5; B – 4; C – 1; D – 2 

 

 

22. Antigen is a substance which  

(a) lowers body temperatures 

(b) destroys harmful bacteria 

(c) triggers the immune system 

(d) is used as an antidote to poison 

 

 

23. The sequencing of the entire genome (the totality of all genes) of an 

organism was completed in 1996. The organism was:  

(a) albino mouse  

(b) yeast 

(c) human being  

(d) plasmodium vivax 

 

 

24. Which one of the following techniques can be used to establish the 

paternity of a child? 

(a) Protein analysis 

(b) Chromosome counting 

(c) Quantitative analysis of DNA 

(d) DNA finger printing 

 

 

 

 

 

 

 



 

 

 

 

 

 

Science 1996 
 

 

1. A simple machine helps a person in doing:  

(a) less work 

(b) the same amount of work with lesser force 

(c) the same amount of work slowly 

(d) the same amount of work much faster 

 

 

2. When a mirror is rotated by an angle ɵ, the reflected ray will rotate by :  

(a) 0°  

(b) ɵ/2  

(c) ɵ  

(d) 2ɵ 

 

 

3. Total internal reflection can take place when light travels from:  

(a) diamond to glass  

(b) water to glass 

(c) air to water  

(d) air to glass 

 

 

 

 



 

 

 

 

 

 

4. Assertion (A): Transformer is useful for stepping up or stepping down 

voltages. 

Reason (R): Transformer is a device used in D.C. circuits. 

In the context of the above two statements, which one of the following is 

correct? 

(a) Both A and R are true and R is the correct explanation of A 

(b) Both A and R are true but R is not a correct explanation of A 

(c) A is true but R is false 

(d) A is false but R is true 

 

 

5. Domestic electrical wiring is basically a :  

(a) series connection 

(b) parallel connection 

(c) combination of series and parallel connections 

(d) series connection within each room and parallel connection elsewhere 

 

 

6. Consider the following statements:  

At the present level of technology available in India, solar energy can be 

conveniently used to: 

1. Supply hot water to residential buildings. 

2. Supply water for minor irrigation projects. 

3. Provide street lighting. 

4. Electrify a cluster of villages and small towns. 

(a) 1, 2, 3 and 4 are correct 

(b) 2 and 4 are correct 

(c) 1 and 3 are correct 

(d) 1, 2 and 3 are correct 



 

 

 

 

 

7. Consider the following statements:  

A person in a spaceship located half way between the earth and the sun will 

notice that the: 

1. sky is jet black. 

2. stars do not twinkle. 

3. temperature outside the spaceship is much higher than that on the surface of the earth. 

(a) 3 alone is correct  

(b) 1 and 2 are correct 

(c) 1 and 3 are correct  

(d) 1, 2 and 3 are correct 

 

 

8. The alpha particle carries two positive charge. Its mass is very nearly 

equal to that of  

(a) two protons 

(b) an atom of helium 

(c) sum of masses of two positrons and two neutrons 

(d) two positrons as each positron carries a single positive charge 

 

 

9. Which one of the following elements is alloyed with iron to produce steel 

which can resist high temperatures and also have high hardness and abrasion 

resistance?  

(a) Aluminium  

(b) Chromium 

(c) Nickel  

(d) Tungsten 

 

 

 



 

 

 

10. Which one of the following is not an essential micronutrient for plants?  

(a) Boron  

(b) Zinc  

(c) Sodium  

(d) Copper 

 

 

11. The offending substance in the liquor tragedies leading to blindness etc. is 

(a) ethyl alcohol  

(b) amyl alcohol 

(c) benzyl alcohol  

(d) methyl alcohol 

 

 

12. Physico-chemical characteristics of water in water sources undergo 

changes due to  

(a) aquatic macrophytes  

(b) aquatic fungi 

(c) effluents  

(d) evapotranspiration 

 

 

13. Living organisms require at least 27 elements, of which 15 are metals. 

Among these, those required in major quantities, include  

(a) potassium, manganese, molybdenum and calcium 

(b) potassium, molybdenum, copper and calcium 

(c) potassium, sodium, magnesium and calcium 

(d) sodium, magnesium, copper and manganese 

 

 

 

14. It is possible to produce seedless tomato fruits by 



 

 

(a) applying trace elements in tomato fruits 

(b) spraying mineral solution on plants 

(c) spraying hormones on flowers 

(d) applying fertilizers containing radioactive elements 

 

 

15. Match List-I (Physiological processes) with List-II (Cell organelles) and 

select the correct answer by using the codes given below:  

List- I     List-II 

A. Photosynthesis    1. Plasma membrane 

B. Mineral uptake    2. Chloroplast 

C. Respiration    3. Mitochondria 

D. Protein synthesis   4. Ribosomes 

(a) A – 1; B – 2; C – 3; D – 4 

(b) A – 1; B – 2; C – 4; D – 3 

(c) A – 2; B – 1; C – 3; D – 4 

(d) A – 2; B – 1; C – 4; D – 2 

 

 

16. Which one of the following is a modified stem?  

(a) Carrot  

(b) Sweet potato 

(c) Coconut  

(d) Potato 

 

 

 

 

 

17. Of the four landmarks in medical history given below, which one was the 

first to take place? 

(a) Organ transplant  

(b) Bypass surgery 



 

 

(c) Test tube baby  

(d) Plastic surgery 

 

 

18. According to the World Health Organisation (WHO), the disease which 

causes the death of the largest number of people today is  

(a) AIDS  

(b) Tuberculosis 

(c) Malaria  

(d) Ebola 

 

 

19. The nutritional deficiency condition that needs to be given top priority for 

remedial action in India today is  

(a) Scurvy  

(b) Rickets 

(c) Xerophthalmia  

(d) Pellagra 

 

 

 

 

 

 

 

 

 

 

20. Match List-I with List-II and select the correct answer by using the codes 

given below: 

List- I    List-II 

A. Vitamin   1. Pepsin 

B. Enzyme   2. Carotene 



 

 

C. Hormone   3. Keratin 

D. Protein   4. Progesterone 

Codes: 

(a) A – 1; B – 2; C – 3; D – 4 

(b) A – 2; B – 1; C – 4; D – 3 

(c) A – 2; B – 1; C – 3; D – 4 

(d) A – 1; B – 2; C – 4; D – 3 

 

 

21. Which of the following are associated with Diabetes mellitus, a common 

disease in adults? 

1. Higher sugar level in blood 

2. Lower sugar level in blood 

3. Lower insulin level in blood 

4. Higher insulin level in blood 

Select the correct answer by using the codes given below: 

Codes: 

(a) 2 and 4  

(b) 1 and 2 

(c) 2 and 3  

(d) 1 and 3 

 

 

 

 

22. Consider the following statements. 

AIDS -is transmitted 

1. By sexual intercourse 

2. By blood transfusion 

3. By mosquitoes and other blood sucking insects 

4. Across the placenta 

(a) 1, 2 and 3 are correct  

(b) 1, 2 and 4 are correct 



 

 

(c) 1, 3 and 4 are correct  

(d) 1 and 3 are correct 

 

 

23. Which of the following would lead to malnutrition?  

1. Overnutrition  

2. Undernutrition 

3. Imbalanced nutrition 

Select the correct answer by using the codes given below 

Codes: 

(a) 2 alone  

(b) 2 and 3 

(c) 1 and 3  

(d) 1, 2 and 3 

 

 

24. People drinking water from a shallow hand pump, are likely to suffer from 

all of the following diseases except  

(a) Cholera  

(b) Typhoid 

(c) Jaundice  

(d) Fluorosis 

 

 

25. Besides proteins and carbohydrates, other elements of nutritional value 

found in milk, include  

(a) calcium, potassium and iron 

(b) calcium and potassium 

(c) potassium and iron 

(d) calcium and iron 

 

 

26. Fat present below the skin surface in our body, acts as a barrier against  



 

 

(a) Loss of heat from the body 

(b) Loss of essential body fluids 

(c) Loss of salts from the body 

(d) Entry of harmful micro-organisms from the environment 

 

 

27. The major chemical compound found in kidney stones is: 

(a) urea  

(b) calcium carbonate 

(c) calcium oxalate  

(d) calcium sulphate 

 

 

28. Consider the following programmes:  

1. Afforestation and development of wastelands 

2. Reforestation and replantation in existing forests 

3. Encouraging the wood substitutes and supplying other types of fuel 

4. Promotion of wide use of insecticides and pesticides to restrict the loss of forest area 

from degradation caused by pests and insects. 

The National Forest Policy of 1988 includes: 

(a) 1, 2, 3 and 4  

(b) 2 and 4 

(c) 1, 3 and 4  

(d) 1, 2 and 3 

 

 

29. Which of the following professional(s) are more likely to run the risk of a 

permanent change in their cell’s DNA?  

1. Researchers using Carbon 14 isotope 

2. X-ray technician 

3. Coal miner 

4. Dyer and painter 

Select the correct answer by using the codes given below 



 

 

Codes: 

(a) 2 alone  

(b) 1, 2 and 3 

(c) 1, 2 and 4  

(d) 1, 3 and 4 

 

 

 

 

 

 

 

 

 

Science 1995 
 

 

1. Who among the following anticipated Newton by declaring that all things 

gravitate to the earth?  

(a) Aryabhatta 

(b) Varahamihira 

(c) Buddhagupta  

(d) Brahmagupta 

 

 

2. The clouds float in the atmosphere because of their low: 

(a) temperature  

(b) velocity 

(c) pressure  



 

 

(d) density 

 

 

3. When the same note is played on a sitar and a flute, the sound produced 

can be distinguished from each other because of the difference in :  

(a) pitch, loudness and quality 

(b) pitch and loudness 

(c) quality only 

(d) loudness only 

4. Assertion (A) : A diamond sparkles more than a glass imitation cut to the 

same shape. 

Reason (R) : The refractive index of diamond is less than that of glass. 

In context of the above two statements, which one of the following is correct? 

(a) Both A and R are true and R is the correct explanation of A 

(b) Both A and R are true and R is not a correct explanation of A 

(c) A is true but R is false 

(d) A is false but R is true 

 

 

5. Optical fibre works on the principle of : 

(a) total internal reflection  

(b) refraction 

(c) scattering 

(d) interference 

 

 

6. Suppose a rocketship is receding from the earth at a speed of 2/10 th the 

velocity of light. A light in the rocketship appears blue to the passengers on the 

ship. What colour would it appear to an observer on the earth?  

(a) Blue  

(b) Orange 

(c) Yellow  

(d) Yellow-orange 



 

 

 

 

7. An air bubble in water will act like a :  

(a) convex mirror  

(b) convex lens 

(c) concave mirror  

(d) concave lens 

 

 

 

 

 

 

8. The technique used to transmit audio signals in television broadcasts is : 

(a) Amplitude Modulation 

(b) Frequency Modulation 

(c) Pulse Code Modulation 

(d) Time Division Multiplexing 

 

 

9. Cryogenic engines find applications in :  

(a) sub-marine propulsion 

(b) frost-free refrigerators 

(c) rocket technology 

(d) research in superconductivity 

 

 

10. Which one of the following can be used to confirm whether drinking water 

contains a gamma emitting isotope or not? 

(a) Microscope  

(b) Lead plate 

(c) Scintillation counter  

(d) Spectrophotometer 



 

 

 

 

11. Which one of the following pairs of materials serves as electrodes in 

chargeable batteries commonly used in devices such as torchlights, electric 

shavers etc. 

(a) Nickel and cadmium  

(b) Zinc and carbon 

(c) Lead peroxide and lead  

(d) Iron and cadmium 

 

 

12. ‘Yellow cake’, an item of smuggling across border is  

(a) a crude form of heroin  

(b) a crude form of cocaine 

(c) uranium oxide  

(d) unrefined gold 

 

 

13. The difference between a nuclear reactor and an atomic bomb is that  

a. no chain reaction takes place in nuclear reactor while in the atomic bomb there is a 

chain reaction 

b. the chain reaction in nuclear reactor is controlled 

c. the chain reaction in nuclear reactor is not controlled 

d. no-chain reaction takes place in atomic bomb while it takes place in nuclear reactor 

 

 

14. Which one of the following is a mixed fertilizer?  

(a) Urea  

(b) CAN 

(c) Ammonium sulphate  

(d) NPK 

 

 



 

 

15. The chemical used as a ‘fixer’ in photography is  

(a) Sodium sulphate 

(b) Sodium thiosulphate 

(c) Ammonium persulphate  

(d) Borax 

 

 

 

 

16. Which one of the following polymers is widely used for making bullet 

proof material? 

(a) Polyvinyl chloride  

(b) Polyamides 

(c) Polyethylene  

(d) Polycarbonates 

 

 

17. The final Agent Orange raid in Vietnam took place in 1970– areas have 

begun to bloom again. But 19 years after the war’s end, it seems plain that Agent 

Orange is killing and maiming human beings, something it never intended to do. 

The apparent toxic fallout from those clouds–is a crop of human miseries 

including cancers, miscarriages and birth defects that may persist for decades." 

The offensive substance referred to in this quotation is: 

a. DDT used as insecticide 

b. A complex mixture of herbicides and weedicides used to increase agricultural output 

in the South Vietnam under the U.S. aid programme 

c. A complex mixture of DDT and other insecticides used at aerial sprays for protection 

against malaria and other tropical diseases 

d. Dioxin used as defoliants 

 

 

18. Which one of the following fuels causes minimum environmental 

pollution? 



 

 

(a) Diesel  

(b) Coal 

(c) Hydrogen  

(d) Kerosene 

 

 

 

 

19. Most of the desert plants bloom during night time because 

(a) their blooming is controlled by low temperature 

(b) they are sensitive to the phases of moon 

(c) the desert insects eat away flowers during day time 

(d) the desert insects are active during night time 

 

 

20. The only snake that builds a nest is:  

(a) Chain viper  

(b) King Cobra 

(c) Krait  

(d) Saw-scaled viper 

 

 

21. Which one of the following sets is correctly matched? 

(1) Diphtheria, Pneumonia and Leprosy: Hereditary 

(2) AIDS, Syphilis and Gonorrhoea: Bacterial 

(3) Colour blindness, Haemophilia and Sickle cell anaemia: Sex linked 

(4) Polio, Japanese B encephalitis and Plague: Viral 

(a) only 2  

(b) only 3 

(c) 1 and 4  

(d) None of these 

 

 



 

 

22. A person with ‘AB’ blood group is sometimes called a universal recipient 

because of the 

(a) lack of antigen in his blood 

(b) lack of antibodies in his blood 

(c) lack of both antigens and antibodies in his blood 

(d) presence of antibodies in his blood 

 

 

23. Which one of the following is a membrane that protects the developing 

embryo from desiccation?  

(a) Amnion  

(b) Allantois 

(c) Chorion  

(d) Yolk sac 

 

 

24. Which one of the following antimicrobial drugs, is suitable for treatment 

of both tuberculosis and leprosy?  

(a) Isoniazid  

(b) P-aminosalicylic acid 

(c) Streptomycin  

(d) Rifampicin 

 

 

25. The normal temperature of human on Kelvin scale is  

(a) 280  

(b) 290 

(c) 300  

(d) 310 

 

 

 

 



 

 

 

 

 

 

26. Which of the following elements are present in all proteins? 

1. Carbon  

2. Hydrogen 

3. Oxygen  

4. Nitrogen 

Codes : 

(a) 2 and 3  

(b) 1, 2 and 4 

(c) 1, 3 and 4  

(d) 1, 2, 3 and 4 

 

 

27. Which one of the following hormones contains iodine? 

(a) Thyroxine  

(b) Testosterone 

(c) Insulin  

(d) Adrenaline 

 

 

28. By Weaving threads of physics, chemistry and biology into a rich tapestry, 

this remarkable scientist provided a unifying molecular view of the world. He 

touted the wonderful properties of Vitamin C, first as a cure of common cold 

and later as preventing agent against cancer.” One of science’s major figures of 

all time referred to above is 

(a) G . N . Lewis  

(b) Linus Carl Pauling 

(c) Fritz London  

(d) Walter Heitle 



 

 

 

 

29. “It begins as a single cell and grows into a merciless disease that claims 

millions of lives year after year. But scientists are steadily unlocking its 

mysteries and the fight against it, may now have reached a dramatic turning 

point. New discoveries promise better therapies and hope in the war against....". 

The disease referred to in the above quotation is 

(a) Cancer  

(b) AIDS 

(c) Tuberculosis  

(d) Alzheimer’s disease 

 

  

 

 


